October 16, 2003

Multi-Page™ NL Hydro's 2003 General Rate Application

Page 1 Page 2
1 October 16, 2003 1 Practices Review and Policy. I'm assuming
2 (9:05am.) 2 that you personally did not prepare this
3 CHAIRMAN: 3 document, thisis Mr. Haynes' document?
4 Q. Good morning. Good morning, Ms. Newman, are 4  A. That document was prepared for Mr. Haynes,
5 thereany preliminary matters before we get 5 yes.
6 started, please? 6 Q.Can you tell us, were you involved in
7 MS.NEWMAN: 7 consideration of hedging as a potential
8 Q. No, Chair. 8 strategy for Hydro?
9 CHAIRMAN: 9 A. Hydro hired an outside consultant to provided
10 Q. Thank you. Good morning, Mr. Roberts. 10 us with the advice relativeto al price
11 A. Good morning. 11 hedging.
12 Q. Lookslikeit might beyour last day onthe 12 Q. And, as | understand it, within Hydro,
13 stand, I’'m sure you're looking forward to 13 according to your evidence and that of Mr.
14 that. Good morning, Mr. Seviour. 14 Haynes, it’ s the production division that has
15 MR. SEVIOUR: 15 the responsibility for the management of oil
16 Q. Good morning, Mr. Chairman. 16 purchases and oil pricing issues, is that
17 CHAIRMAN: 17 correct?
18 Q. Youcanbegin your crosswhen you're ready, 18 A.Yes. Mr. Haynes, through hisdivision in
19 please. 19 production has full responsibility for all
20 MR. SEVIOUR: 20 matters relative to fuel.
21 Q. Thank you, Mr. Chairman. Good morning, Mr. 21 Q. Did you yourself have any involvement in
22 Roberts. 22 assessing the hedging, fuel oil pricing
23 A. Good morning. 23 hedging issue for Hydro?
24 Q. Mr. Roberts, | wonder if | could ask you to 24 A.| personally did not.
25 turn up Exhibit JrH-1, thisisthe Fuel Qil 25 Q. Youdid not, okay. Areyou awareof the
Page 3 Page 4
1 conclusion that was achieved that afuel oil 1 associated with the management of the hedging
2 pricing hedging program would not be a 2 program. Were you involved in assessing any
3 recommended strategy for Hydro? 3 of those costs?
4 A.Yes, | have read the document, I'm aware of 4 A.No, an outside consultant provided assistance
5 the conclusions that were reached. 5 to Hydro in the development of that and this
6 Q. Andl don't want to spend much time on this, 6 information was done through our Treasury
7 Mr. Haynesis the person to deal with it, but 7 Department and the consultant for Mr. Haynes.
8 at page three of the report, if that could be 8 Q. I'll cometo Mr. Hayneswith that, and move
9 turned up, there is a discussion of one of the 9 on, thank you. | spoke with Mr. Young
10 reasons why hedging was ruled out as a 10 yesterday and let him know that I would be
11 potential fuel oil pricing strategy management 11 covering afew technical pointswith you, Mr.
12 and one of the reasons given was that although 12 Roberts, on afew issues that I've been
13 there may bean appreciable benefit of ten 13 directed to explore by the Industria
14 percent in adding hedging to the RSP strategy 14 Customers' experts and | wanted to come to
15 to alow a ten percent decrease in price 15 those now.
16 volatility for consumers, the attendant, 16 The first point relates to your evidence
17 administration and related costs of such a 17 at page 15 of your evidence, Section 4.6. 4. 6
18 program probably outweighed that benefit. Are 18 you talk about the cost of debt and perhaps
19 you aware of that conclusion? 19 for the record you can just read what your
20 A.Yes, I'mreading it here on the screen, asyou 20 evidenceis.
21 say, and asl| say, | haveread the report 21 A.Yes, beginning on line 16, "The calculation of
22 earlier. 22 the cost of debt is contained on Schedule 7,
23 Q. And my interest in coming to thiswith you is 23 attached, and is consistent with the
24 at page three where there’ s areference to the 24 methodology approved by the Boardin P.U. 7
25 potential significant cost on thefirst line 25 during the 2001 GRA. The forecast for 2004 is
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1 MR. ROBERTS: 1 A. But we have more debt outstanding in total and
2 8.29 percent versus 8.17 in the 2002 test year 2 there is a switch between funds being financed
3 final cost of service." 3 on ashort-term basis because we were capped
4 Q. And that represents an increase over the 2002 4 at atotal of 300 million. And as we approach
5 test year cost of service, isthat correct? 5 that 300 million, plansareputin placeto
6 A.Yes, itdoes. 6 convert to along-term debt issue and along-
7 Q. Beforewelook at the numbersthat relate to 7 term debt issue would carry a higher interest
8 this particular conclusion, can you give us an 8 rate than what would be obtained in short-
9 explanation asto why the cost of debt would 9 term.
10 be higher for the 2004 test year than it was 10 Q. Whydon't wejust move tothe Exhibit I've
11 for the 2002 test year? 11 given notice to you of, that’ s 1C-238. 1C-238
12 A. Well two things that immediately come to mind 12 is athree-page document, Mr. Roberts, in
13 is thefinancing cost associated with the 13 which you' ve broken down the cost of debt for
14 completion of the Granite Canal project and 14 both 2002 and 2004, is that correct?
15 the continued build-up in the Rate 15 A.Yes, it showsthe final cost-of-service debt
16 Stabilization Plan. 16 calculation for 2002 and the proposed forecast
17 Q.| guess intuitively when | looked at that, 17 cost-of -debt calculation based on the revision
18 when | first read your evidence, and as | say, 18 in August. No, I’'m sorry, it's based on the
19 we have some numbers onthis that I'll be 19 original filing, I'll correct you there.
20 coming to in amoment, but when | first read 20 Q. Let'sturn up page two then of 1C-238 and we
21 your evidence, intuitively, it surprised me 21 see that in this Exhibit which relates to 2002
22 that in 2004 when the context of interest rate 22 cost of debt, thefigure achieved was 8.166
23 decreases, we would be seeing anincreasein 23 percent. That's inthe bottom right hand
24 the cost of borrowing, and I’'m wondering if 24 corner of the document.
25 you could react to that? 25 A.Yes, that’s correct.
Page 7 Page 8
1 Q. Andcanyou just clarify how that particular 1 We have some capital leases that are
2 figure was achieved and take usthroughina 2 outstanding and associated with those, there's
3 general way, this Schedule so that we can 3 an average debt outstanding of 3.3 million and
4 meaningfully understand how you got to that 4 theinterest cost of 355,000 dollars. Our
5 figure? 5 short-term debt which happens to be the
6 A.Yes Maybeif wecan just start a the top of 6 promissory notes that we have, that’s a--where
7 the screen. Thefirst section is headed up as 7 our short-term borrowing and as you’ll recall,
8 being our Canadian Bond Interest. These are 8 afew minutes ago | mentioned we have a cap of
9 the long-term debt issues that are 9 300 million dollars. That'sthe areawhere
10 outstanding, indicating the year of maturity, 10 the short-term promissory notes are recorded.
11 the balance that was outstanding in 2001 11 At the end of the period, we have an average
12 versus 2002, giving you an average. And then 12 outstanding of 195,870,000 and the interest
13 the last column over indicates the amount of 13 based on a month-by-month calculation of the
14 interest that's associated with that 14 activity that’s happened within the run, for
15 particular debt issue. Thesum of al of 15 the calculation of theinterest, the annual
16 those is that there's approximately 16 interest cost is $5,952,000. The next lineis
17 $90,783,000 worth of interest associated with 17 the amortization of our realized foreign
18 an average of 1.2 billion dollarsworth of 18 exchangelosses ontwo pieces of debt that
19 debt. 19 were inforeign currency. And the tota
20 The next line shows some other long-term 20 amortization on those is $2,157,000.
21 debt which are government of Canada issues, 21 The next section deals with the discount
22 showing the same information asto what’'s 22 inissue expenses. And just very briefly on
23 outstanding as of December 2001 and December |23 that is that when we go to the bond market to
24 2002 to arrive at your average, and the total 24 issue a125 million dollars, there arefees
25 interest cost on that is 1.7 million dollars. 25 for which we have to pay and it'sthe
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1 MR. ROBERTS: 1 off. And then finally, Hydro has some sinking
2 amortization of those feesthat are matched 2 funds relative to these various long-term bond
3 over thelife of the debt. Fiduciary fees are 3 issues. There are statutory requirements
4 some fees that are handled for the 4 where we are required to put aside acertain
5 administration of the debt, the same thing 5 amount of funds each year to alow for the
6 associated with the Ms leasein moving you 6 availability of funds upon retirement of the
7 downto alinecalled "Total Interest Expense" 7 issue. Sotheamount of the sinking funds
8 of 102,028,000. The guarantee fee on the debt 8 that are directly related to that debt are
9 that’ s outstanding, for which the province has 9 reflected here and they end up being a
10 paid a fee of one percent,is12.7. We've 10 reduction off of the total debt that's
11 included in, within this section of funding, 11 outstanding, and the interest that’ s earned on
12 we also have some debt on our booksthat’'s 12 those particular fundsis 6 million, 306. And
13 done on amonth-by-month basis, relative to 13 when we sum all of those costs and reductions
14 our investments, CF(L)CO, that’ s been financed 14 together, we end up with atotal interest bill
15 and the average debt that’ s been outstanding 15 of a hundred and six, two sixty-six. The
16 based on 2001 and 2 is 26 million, 653. The 16 average of the debt outstanding between 2001,
17 interest cost associated with that has been 17 2002 isone hillion, three hundred one, three
18 calculated at $1,891,000, so that comes off of 18 eighty-five and that is divided into the total
19 the total interest. 19 interest cost, you end up with your rate of
20 The guarantee fee, of course there’'sa 20 8.166 or 8.17 as rounded in my evidence.
21 portion of the guarantee fee associated with 21 Q. You'redividing 106,266,000 by abillion -
22 the debt on CF(L)co because all our debt is 22 A.The1,301,385 which is the average debt
23 guaranteed by the province. So the amount in 23 Q. Thank you, that’s helpful, Mr. Roberts. Can |
24 guarantee fee that’ s associate with the debt 24 ask you to return to the discount and issues
25 related to CF(L)COis 278,000 and that comes 25 expense and there'sa referencejust a few
Page 11 Page 12
1 lines down from that, "Total DDI". DDI, IS 1 Q. Andthefigurethat we seein parentis there,
2 that the same thing? 2 of eleven eight eighty, that's a simple
3 A.Yes, discount and issue expense. That 3 average of year end 2001, year end 2002.
4 discount and issue is what the DDI represents. 4 A Yesitis.
5 Q. Could you amplify abit on what are the nature 5 Q. Andit'sexpressed asanegative here but |
6 of these expensesthat are reflected in this 6 takeit from my own review of the Math that
7 category? 7 what you doisin fact you don't deduct it
8 A.Wedl, what would be there is that, for 8 from the -
9 instance, when we go to our financial advisors 9 A.Youactualy add it on because -
10 and say that we're looking at an issue of $125 10 Q. Youaddit.
11 million, then thereisa feeto those bond 11  A.Yes, becauseyou didn't really get thefull
12 sellersas | would refer to. So that we don’t 12 face value.
13 get afull $125 million, wemay get 123 13 Q. That'sright. Soit’'sacost of debt.
14 million, five hundred. So thereisafeeor a 14 A.Yes
15 commission, whatever you prefer to refer to 15 Q. Andso weshouldn't be mislead by the fact
16 it, associated with selling that issue. So we 16 that it's shown as a deduction in this
17 actually sell theissueto that group and they 17 Schedule. | think that’s helpful, Mr.
18 actually go out and would re-sell the bondsto 18 Raoberts. Can| ask you now to turn to page
19 various investment dealers or pension plans, 19 three of three, and | won’'t ask youto go
20 whatever the case may be. So, there would be 20 through the same exercise, but the same
21 afee tothe actua financial advisors for 21 approach isused, presumably, inthe 2004
22 selling these bonds and there may be some 22 calculation of debt to get 8.2832 percent?
23 printing costs or other costsfrom a legal 23 A.Yes, that's correct.
24 perspective in finalizing some of the 24 Q.| want you to turn to the discount and issues
25 documents. 25 expense that’ s shown in this schedule which
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1 MR. SEVIOUR: 1 series for the 5.05 and in opening that issue,
2 confused us, because if you look at the debt 2 the bonds were sold at a premium, so that
3 discount and issues expense reflected on this 3 instead of being sold at $100, people were
4 schedule, it’s expressed to be an average of 4 willing to pay $110, and I'm just using
5 6,171,000, isthat correct? 5 hypothetical numbers. They were willing to
6 A.Yesitis. 6 pay more than par to be able to obtain a bond
7 Q. Andthat’sshown in this particular schedule 7 with a5.05 percent interest rate. That
8 as acredit as opposed to a deduction? 8 excessthat wereceived, we'rewriting off
9 A.Yes, that's correct. 9 back against interest expense over the life of
10 Q. That would indicate that there's been 10 the debt issue.
11 something inthe nature of an 18 million 11 In the preparation of the 2004 forecast
12 dollar swing between '02 and ' 04 test years? 12 and looking at the requirements for another
13 A.Yes, if you would just bear with me for one 13 issue, the same thing was done for the filing
14 second, | can explain asto why. 14 that we have beforeus of sayingthat we
15 Q. Andthat’sthe point of my question, perhaps 15 would have opened an existing 6.65 percent
16 you can do that. 16 bond issue. Selling that particular issue,
17 A.You will notice there's a series there 17 people would have been preparedto pay a
18 underneath that section, 5.05 percent and you 18 premium to getthat interest rate. So,
19 will come across into the column and it shows 19 therefore, we would have received the same
20 in brackets, 270 thousand. And then you will 20 principleif people would be willing to pay
21 also notice there isa 6.65 percent issue 21 more than $100 for the face value of abond,
22 there aswell that showsin brackets, an 22 to obtain an interest rate factor of 6.65. So
23 amount of 314,000. Inour borrowing, of 23 we ended up factoring in here that we would
24 course, 6.65 for 2004 was just a projection, 24 receive apremium on that issue, andthat’s
25 but what had happened, we opened an existing 25 why you end up having a credit or areduction
Page 15 Page 16
1 in your interest expense and the debt discount 1 Q. Thank you. That'shelpful, Mr. Roberts. |
2 0n issue expenses on those two issues. 2 wanted to turn now to the next issue | raised
3 In actual fact, as been outlined to date 3 with Mr. Young, for your review. Andthat’'s
4 in ahearing and also in one of the RFIs, what 4 the differences that are found in the Cost-of-
5 has actually happened in redlity is that we 5 Service Study and in your Schedule 2
6 didn’t open an existing issue for the 6.65, 6 respecting theinterest and thereturn on
7 there was actually a new issue that was issued 7 equity computations. Areyou aware of this
8 at 5.7. Sotheimpact of al of thiswill be 8 issue?
9 reflected now in the new revision. 9 A.Yes
10 Q. And wasthere still a premium associated with 10 Q. And | guesswe have Schedule 2 on the screen
11 that bond issue? 11 and let’ s begin with the interest figure which
12 A. No, there was not. 12 isinline34. And that figureisreflected
13 Q. Sothisfigure will be reduced. 13 in your calculation to be $101,715,000?
14 A. Thisfigure will disappear on the revision. 14 A Yes
15 Q. Andjugt, finally, to complete the circle, but 15 Q. That'sin the shaded portion on line 35?
16 in the method of calculation, can you confirm 16 A.Yes
17 that in attaining the average debt for the 17 Q. And if I could ask that Mr. Greneman’s
18 purposes of the calculation on page three, 18 evidence be turned up, thisis the Cost-of-
19 that because this was a credit to Hydro based 19 Service study. And Mr. O'Reilly, I'm
20 on the premium of the bonds of 6,171,000 as 20 referring to page one of 107. And I’ m looking
21 calculated, that that figure actually will be 21 at line 21 of that schedule, areturn on debt.
22 deducted in going through - 22 That corresponds to the interest cost that we
23 A.The premium, because it would actually 23 just looked at, doesit not?
24 increase the amount of debt, it goes in 24  A.Yes. Maybel can help to explain -
25 reverse of what we talked about earlier. 25 Q. Maybewe'll just get--do you mind if | ask
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1 MR. SEVIOUR: 1 19,384,000 as opposed to the 15 million and
2 just a couple of more questions - 2 change of Mr. Greneman’s, isthat correct?
3  A.No, goright ahead. 3 A Yes, it's higher than what's in Mr.
4 Q.- before we get to the explanation. 4 Greneman’s.
5 A.Okay. 5 Q. Sowehaveavariance for the two categories
6 Q. Sowehavethetableset somewhat. But this 6 and | just wanted to explore abit of that
7 figure of $106,037,664, that's, in fact, 7 with you because there’' s been some requests
8 higher than your cost of interest that’s shown 8 for information responses filed on this, and
9 in the revenue requirement that we just looked 9 we're having some difficulty in determining
10 at, isthat correct? 10 exactly how those amounts could be reconciled.
11 A Yes 11 Perhaps we can start with 1c-405, and I'm
12 Q. Andjust to complete the loop on this, again, 12 going to come at this, Mr. Roberts, by dealing
13 so that the Board has a sense of the issues 13 with the interest expense discrepancy first.
14 we're going to explore and 1'm going to have 14 And | don't know if youhad any genera
15 you attempt to explain to me. If you look at 15 commentsto make asto why Mr. Greneman’s
16 line 22, the return on equity in Mr. 16 cost-of -service interest calculation and your
17 Greneman’s schedule in front of you is 17 own in Schedule 2 for the revenue requirement,
18 $15,052,375, is that correct? 18 would differ, before we got into this
19 A.Yes 19 particular document.
20 Q. Andthat, infact, islower than your Schedule 20 (9:30am.)
21 2 number, and maybe we can flip up Schedule 2 21  A.Maybel cantry to provide alittle bit of an
22 again, Mr. O'Reilly, if you don't mind. And 22 overview first and then come back to theissue
23 at the bottom of the page where we have the 23 at hand of what’s on the screen of 1C-405. If
24 corresponding entry for margin return on 24 you look at my revenue requirement which we
25 equity, line 35, there' s afigure of 25 just referred to on Schedule 2, if you add the
Page 19 Page 20
1 line 34 and 35 together, the interest and the 1 twenty-one 088, that’s what Mr. Greneman uses
2 margin, that comes to at least on arevised 2 in the cost of service for setting rates. And
3 filing, 121 million, 088. And, | believe, if 3 what | show is just the allocation from a
4 you went back to Mr. Greneman’'s cost of 4 financial and reporting basis of what that
5 service and you added what he shows for 5 split would be between interest and profit.
6 interest and margin, you should come to the 6 So there’ s no difference here, it’'sjust how
7 same number. 7 do you allocate the pot. And the total amount
8 Q. As | understand itand | don't want to 8 happensto be the 121 million dollars that’s
9 interrupt you, but both are revenue 9 being allocated.
10 requirement calculations, are they not? 10 If I may, now, on 1C-405, which iswhere
11 A. Mr. Greneman’s is thecost of service for 11 we werejust a minuteago. What 405 is
12 determining rates. My revenue requirement is 12 showing you is that--and this top line starts
13 reflecting what an Income Statement would look |13 off with the rate base and the allocation of
14 like, even though it's called a revenue 14 the debt to capital which is8614 whichis
15 requirement. So, what I’'m saying is that the 15 debt and the cost of debt as being 8.287. And
16 total return that Mr. Greneman has used in the 16 asyou can seethere, when a calculationis
17 cost of service to determine rates is exactly 17 done, the debt is actually a hundred and six,
18 in total the same as | have in requirement, in 18 034.
19 the revenue requirement. 19 Q. Judt, for therecord, | think that there may
20 Q. You'vejust gotten to that total differently. 20 be an error in the statement of the rate base
21 A. The split of what isinterest versus marginis 21 figure for that calculation.
22 done differently and I'll come to that now in 22 A. It should befour, five zero, not four, three,
23 asecond. But | want to be sure in that if 23 zero.
24 you look back into my evidence, the return on 24 Q. Thank you.
25 rate base that’s calculated isthe hundred 25  A.Andif | may, the other thing that’ s wrong too
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1 MR. ROBERTS: 1 hundred eighty-five, four-fifty. So when you
2 isthe reference is not JAB-1, page 1 of 94, 2 go back now to Schedule 4, within our rate
3 that’ swhat it was at the last hearing. It’'s 3 base we have rural interconnective assets of
4 actually RDG-1, page 1 of, | think, 107. 4 approximately 213 million dollars, for which
5 Q. That'sthe scheduled we looked to a moment ago 5 weonly recover our cost of debt. On the
6 - 6 other rate base assets, we recover our full
7 A Yes 7 weighted average cost of capital, which
8 Q.- for Mr. Greneman’sfigures becausethisis 8 includesthe cost of debt plus our margin.
9 Mr. Greneman’s calculation, | takeit? 9 But at the end of the day, the full fourteen
10 A.Thisis the number of theinterest that's 10 eighty-five, four fifty, from a debt
11 shown and reflected in the cost of service. 11 perspectiveiswhat’ sincluded in the return
12 Q. Sothefirst two lines, that's Mr. Greneman’'s 12 onrate base. Sothis, back here on 1C-405,
13 approach to get the figure that he got--he put 13 the 1-4-8-5-4-5-0 that you see on Schedule 4
14 in Schedule 1 of his- 14 and what you' Il see here on 1C-405 is the same
15 A Well - 15 number.
16 Q.- cost of service. 16 Q.Yes.
17 A. That'stheinterest portion that showswithin 17 A. Andthe 86.14 percent isjust the debt to
18 the cost of service, but it’ s also obtainable 18 capital ratio and the 8.287, in this
19 from one of the schedulesthat | actually have 19 particular case, hereis the cost of debt. So
20 in my evidence when the calculation is done of 20 when you do that Math coming across, you end
21 the return on rate base, which is Schedule 4. 21 up with 106 million, 034. Inaddition to
22 Q. Sorry, which schedule? 22 that, we also have work in progress and the
23 A. Schedule4. Hydro'soveral tota rate base 23 Rate Stabilization Plan that are subject to
24 which has been calculated and shown on 24 being financed by both debt and equity. So
25 Schedule 3, and it comes to one billion, four 25 based on the average balances of thework in
Page 23 Page 24
1 progress, which is as of 2003 and 2004, the 1 asset. Weincur the costs and set up the
2 average, and the samething being done with 2 receivable for the Rate Stabilization Plan.
3 the Rate Stabilization Plan and applying the 3 We charge interest to that plan, so the
4 same weighted average for debt, there's 4 interest is not an expenditure. We actually
5 additional debt of 4.4 and 10.4 on those 5 takeit out of expenditure, put it on the
6 particular items. There are also assets that 6 balance sheet and we recover it from the
7 exceed the capital structure. 7 customer over time.
8 Q. I'msorry, could | briefly interrupt you so | 8 Q. Okay. Thank you. | interrupted you a moment
9 understand the source of those numbers. The 9 ago for that explanation. 'Y ou were about to
10 CWIP, that’ s construction work in progress? 10 go to the next category.
11  A.Yes 11 A.Thenextoneisaline that'sreferred to as
12 Q. AndtheRsP isthe Rate Stabilization Plan. 12 excess of assets over capital structure, and
13 Thefigures respectively of 62,351,000 and 13 if I may, if you were to add the rate base of
14 146,220,000, did they come then from the 14 there on line 13 of the 1.4 hillion, plusthe
15 balance sheet? 15 average of the construction work in progress
16  A. Yes, they would be balance sheet averages. 16 and the Rate Stabilization Plan. The total of
17 Q. They'rethe balance sheet averagesfrom your 17 those three will come to what’ s there on line
18 Schedule 8 of your evidence? 18 18 of the one million six hundred and ninety-
19 A.Yes 19 four thousand O twenty-one. However -
20 Q.Okay. Thank you. I interrupted you. You 20 Q. Soif the construction work in progress and
21 were about to go to--and these are additions 21 RsPwere reflected in rate base as assets,
22 tothe - 22 you'd get one million six hundred and--one
23  A.Theseare- 23 billion six hundred and forty--ninety-four
24 Q.- interest costs. 24 thousand--one billion six ninety four -
25 A.-what'sreferred to as like a self-financing 25  A.I’msaying rate base plus these two other
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1 MR. SEVIOUR: 1 you will find, as we move down to Schedule--on
2 items are total assets that come to 2 IC-405,1 should say, we areremoving from
3 1,000,694,021. 3 interest, the impact of having these assets
4 Q. Fine. I think | have your point. 4 financed at the weighted average cost of
5 A.Sothose threewill add--thisisour total 5 capital. And the same thing ishappening in
6 assets. The RSP is an asset. So is 6 the construction work in progress, is that
7 construction work in progress and you'll find 7 theseitems are being capitalized into the
8 other assets within the rate base, besides the 8 project and will cease once an asset comesin
9 actual capital assets. However, if you look 9 service. So of our total interest bill of a
10 at our weighted average cost of capital, which 10 hundred and nineteen, two twenty-six, we have
11 isshown on Schedule5 of my evidence, you 11 it reduced by the amount of interest and
12 will find here that the sum of total debt, 12 financing charges that are associated with the
13 plus the implied future benefits and retained 13 work in progress that has been capitalized and
14 earnings comes to 1,000,670,241. So we have a 14 added to fixed assets, and we have reduced it
15 difference between the assets that are there 15 by the amount of theinterest and financing
16 versus what the capital structure is showing, 16 charges that are associated withthe Rate
17 and the impact of that when you' re using the 17 Stabilization Plan that’s been added to the
18 weighted average cost of debt here through the 18 asset on the balance sheet and we'll recover
19 calculation is a reduction of 1,697,000. 19 from the customers over time.
20 Therefore arriving at the net interest, the 20 In addition to that, you have areduction
21 grossinterest cost of 119 million 226. For 21 for some interest earned on overdue accounts
22 financial statement purposes, we're recovering 22 and the other one is just some timing
23 the interest costs--1 should back up. 23 differences as to when things are going
24 Inthe case of the Rate Stabilization 24 through. So at the bottom, on line 28, what
25 Plan, it’s financed with debt and equity. So 25 you're seeing hereis this would be the
Page 27 Page 28
1 interest number that we would reflect within 1 my revenue requirement. So the amount that |
2 our financia statements, based on a totda 2 show for interest on Schedule 2, at line 34
3 return on rate base aswe have discussed 3 and what you see hereonic-405at line 28,
4 earlier, of 121 million zero eighty-eight. 4 that’ s how that’ s derived.
5 This is the portion that we would be 5 Q. Thank you. That ishelpful, Mr. Roberts. I'm
6 reflecting in our income statement and calling 6 now going to ask youto turnup, with Mr.
7 interest. 7 O'Reilly’ s assistance, NP-5, First Revision,
8 Q. Andthat’sthefigure that we find on Schedule 8 which deals with the equity.
9 2? 9  A. That doesthe reverse transaction of what we
10 A. That'stheinformation that you would find on 10 described for debt.
11 Schedule--my revenue requirement schedule, | 11 Q. And! think you probably needto takeless
12 think is 3 or Schedule 2. 12 time with that because of it, but | would like
13 Q. Schedule 2. 13 to go briefly through it, so that | can have
14  A. Schedule 2. Sowhat you have isthat if you 14 thisfor our expertsin some precision asto
15 added margin and interest together, that total 15 how this figure was achieved. Thefirst lines
16 equals what’ s done through on the calculations 16 11 through 14, that's smply the same
17 of the return on rate base. All this schedule 17 approach. Thisis Mr. Greneman’s approach to
18 is saying, here’ s how we would allocate those 18 achieve the -
19 two numbers from a financial statement 19 (9:45am.)
20 purposes between interest and margin. 20 A.It'sthe same approach, except here what's
21 Q. And isthis, in fact, the calculation or 21 being highlighted in this isthat here you
22 approach that you used to get to thefigure 22 will find the split in the rate base. Whereas
23 for Schedule 2? 23 over onthe other one, there isno split
24  A.Thiscalculation that you see here, that’s how 24 required because we recover the cost of debt
25 we arrived at the 101 million that | have on 25 on all assets. However, when it comesto
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1 MR. ROBERTS: 1 the overdue accountsand the excess assets
2 margin, we don’t earn a margin on rural 2 also comesinto play again here aswell. So
3 assets. So consequently, from a margin 3 what ends up happening isthat, on line 23,
4 perspective, we're not getting any margin here 4 you end up with--this is aproof of the
5 on the rural assets and that’ s why you'll find 5 reconciliation of what will be reflected as a
6 we' ve now shown herethe actual split of the 6 margin within the revenue requirement.
7 total rate base versuson the other oneit 7 Q. In the part of the calculation involving
8 wasn’'t required to show an allocation because 8 excess of assetsover capital structure, you
9 you recover your full cost of debton all 9 use the debt percentage as opposed to the
10 assets. So onthisone, intheline 11 to 14, 10 equity percentage. Perhapsyou can explain
11 you're seeing the assets for which amarginis 11 that?
12 earned and that’s what givesyou the 15,052 12 A. Theratethat's being used there is the amount
13 and that would be, as| mentioned earlier, 13 of excess assets for which there's debt
14 that’s also the same number now that refers 14 assigned. There’sno margin being earned on
15 back to RDG-1, | think it' spage 1 of 7. So 15 those particular assets. 1t's not traceable.
16 that’ s the starting point. Similar to what | 16 Q. Sotheissue of equity, an equity credit there
17 had discussed of earlier in the review of IC- 17 does not enter into the calculation?
18 405 on the debt, the construction work in 18 A. That's correct.
19 progress on the RSP are being financed at the 19 Q. Andthefina adjustment that’s made hereis
20 weighted average cost of capital. That 20 the issue of differences due to timing of cash
21 includes both debt and equity. 21 flows?
22 Q. Andthisisthe equity portion you're showing 22  A.Yes.
23 here? 23 Q. What'sthat all about?
24  A.Thisis the portionthat we'reearning on 24 A.lthink what I'mtrying to explain is, for
25 those two particular assets. The financing on 25 instance, what you're looking at isreally the
Page 31 Page 32
1 reference into the way that we're using 1 for the benefit of ourselvesand the Board,
2 thirteenth-month lags and we're using Lead Lag 2 what is the concept of excess assets over
3 study, but we're actually doing interest on a 3 capital structure? How do you get such an
4 month-by-month cal culation basis. So by using 4 excess?
5 averages versus actually a month-by-month 5 A.Maybel can, just by using what’'s here, try to
6 calculation, you get some timing differences 6 explain by using--I'll just start initially
7 asto how things arrive. 7 with the fuels and supplies. For the purposes
8 Q. Mr. Roberts, I'm glad we're doing this early 8 of rate base, the accepted methodology of
9 in the day. 9 calculating arate baseis that in the case of
10 A .Soaml. 10 inventories, you normally at a thirteenth-
11 Q.| have onefinal piece of the puzzlewhich 11 month average and that will be different than
12 till remains somewhat of a puzzle to me, but 12 if you happen to pick two specific pointsin
13 hopefully will not to my experts. But, the 13 time, which iswhat your financial statements
14 final 1IC1 wanted to refer to in thisareais 14 are based on. So for rate base purposes, it’s
15 IC-406, and in the two previousIcs that we 15 normally used and generally accepted in the
16 looked at and these calculations that you've 16 calculation of rate base that you would use a
17 taken us, you know, so comprehensively 17 thirteenth-month average, and 1, for the
18 through, you'vereferred to the excess of 18 minute, can’t recall the full logic behind it,
19 assets over capital structure and thisic, No. 19 but if you would remember to ask Ms. McShane
20 406, is directed specifically to that concept 20 who provided the assistance and advice to us
21 and that calculation, and | did have afew 21 in developing the methodology that we should
22 questions, before weleft thisarea, about 22 be using for rate base, I’m sure she'd be able
23 this, both a a conceptual and at a 23 totell youthe truelogic behind thirteen
24 calculation level. Maybe we'll start with 24 months versus using simple averages of just
25 conceptual. First of all, can you explain, 25 thetwo years. So asyou can see there, if
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1 MR. ROBERTS: 1 then based on that, arrive at a percentage
2 you had just used the balance sheet 2 that will be applied to your cost and
3 comparisons, the average was 33,719,000. By 3 determine aworking capital number that will
4 using arate base, which assumes a thirteenth- 4 be included in rate base for which you would
5 month average, and | think the intent was to 5 be able to earn areturn on.
6 eliminate ahigh and alow period in using the 6 Thefiveitemsthat you seelisted here
7 thirteen months, rate base actually has 7 accounts receivables, prepaids, accounts
8 34,294,000 for adifference. 8 payable and accrued interest, are what you're
9 It's also quite common in calculation of 9 trying to cover off by having a cash working
10 rate base is to make an allowance for working 10 capital allowance alowed into rate base,
11 capital. You do have ongoing financing 11 because, you know, every month, things will
12 involved from the time that you bill 12 change and what they’re trying to do isto
13 customers, by thetimeyou pay, timelagsin 13 provide funds through the organization to do
14 when you pay your suppliers versus other 14 this financing while you're waiting for
15 aspects that are happening, andit’'s very 15 receipt. If you wereto look at what actually
16 normal, in doing arate base calculation to 16 happened, if you were to look at the
17 have aprovision inthereto allow for this 17 projection of specific balance sheets at three
18 cash working capital. And historically, these 18 and againat four, youfind a completely
19 are done on what’'sreferred to asalead Lag 19 different result. There you'll find a
20 Study where you will actually look at your 20 negative of 20 million dollars versus the rate
21 revenue and say "well, | bill here. How long 21 base as being in there as 3-0-5-7 (phonetic).
22 doesit take and it’ s in the system and before 22 So you really have a net swing there of 23
23 | actually get paid?' and look at your 23 million 205 when combined with the fuel and
24 expenditureson the sameline, "when do | 24 supplies. That'sthe 23,780,000 and that's
25 incur the costs and when do | pay it?' and 25 what’ s contributing to this difference when we
Page 35 Page 36
1 refer to it as the excess of assets over your 1 it acouple more steps.  In the figures that
2 capital structure. Because when you add up 2 we have on 1c-406, the three first columns of
3 the rate base, which would include allowance 3 figures for 2003/2004 on average, they're
4 for these fuels and supplies and net working 4 balance sheet columns?
5 capital, and you add your work in progress and 5 A.Theseare straight balance sheetsand they
6 you add your RSP, in redlity, you havethe 6 should flow through from -
7 asset side of your balance sheet. But when 7 Q. Yes. Theycorrespond, | think, to your
8 you look at your weighted average cost of 8 schedule.
9 capital calculation, which is the other side 9 A.-schedule, | think it’s Schedule 8 again.
10 of the balance sheet, your liabilities and 10 Q. Yes. Andthen we have therate base figures
11 your equity, you have this difference, and the 11 in column four. Column five, as| understand
12 difference arises because of using different 12 it, isintended to be the rate base minus the
13 methodologiesto beincluded, and then the 13 balance sheet figures?
14 examplethere isyou're using inventory at 14 A Yes
15 thirteenth-month averages rather than simple 15 Q. Reflecting ultimately that there’ s $575 excess
16 averages of two years, and in the cash working 16 on account of fuel and supplies.
17 capital, you’re not using specific balances as 17 A. That's575,000.
18 of threeand four. You'reactually doing a 18 Q. 575,000, I'msorry, of course. And then
19 separate Lead Lag Study where you're looking 19 23,205,000 -
20 at each component to arrive at what should be 20 A.Yes.
21 areasonable level of cash working capital to 21 Q.- onaccount of the four other categories?
22 alow into rate base for which you would be 22 A.Yes, for the cash working capital allowance.
23 entitled to areturn on. So | don't know if 23 Q. And thefigure that we come to, $23,780,000,
24 that - 24 that | takeitisto represent the amount of
25 Q. That'ssomewhat helpful. | just want to take 25 excess over the capital ?
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1 MR. ROBERTS: 1 to1c-238, page 3 of 3?7 To provide you with

2 A.That'sthe excess of assets over what our 2 some information as to what the accrued

3 capital structure is by making those 3 interest is, if you looked at our long-term

4 comparisons. 4 debt issues that we have here, interest is

5 Q. Okay. 5 payable semi-annually. So what you will find

6 A. Andthenwhen you apply the cost of debt to 6 isthat if theinterest, and I'll just pick

7 that, that’ s where we end up with that credit 7 oneand useit asan illustration only. For

8 of 1-6-9-7 that was reflected earlier on IC- 8 instance, if you picked thelast onethat’s

9 405. 9 there, the 6.65 percent, the maturity dateis
10 Q. Andif | take you back to 1C-405 for just one 10 27th day of August, 2031. Theinterest would
11 brief moment, if we move down the screen to 11 have been paid semi-annually on that
12 the excess of assets over capital structure, 12 particular bondissue. Sowe would have
13 the difference there, the 1.694 billion minus 13 accrued, in either 2003 or 4, depending, the
14 1.670 billion, if you dothe math on that 14 interest that would have been applicable from
15 figure, 1 think you come out to the 15 the last payment to the end of theyear. So
16 $23,780,000 whichis - 16 that would be done for all of these particular
17 A.Yes, that'sthe 23,780,000 that we just talked 17 bond issues. So we would still have afull
18 about in 1C-406. 18 twelve months accrual of interest within the
19 Q. Okay. Just acoupleof final pointson this 19 particular year. That's what the accrued
20 schedule. On the balance sheet item, the 20 interest would represent.
21 fifth line, the accrued interest figure, can 21 Q. Prior to dispersing it in payments?
22 you help us on what that represents? We're 22 A.Yes. Wewould make the accrual on a month-by-
23 back on Ic--I'm sorry, 1C-406, Mr. O’ Relilly. 23 month basis until such time aswhen it was
24 A.Okay. Just bear with me for one second, if | 24 paid and then the payment would just offset
25 may. Mr. O'Reilly, can| ask you to go back 25 the liability that we have already required.

Page 39 Page 40

1 Q. And is this the issue that Mr. Drazen 1 Q.| wasinterested in your description of that

2 addressed in the 2001 GRA? 2 figure, the net cash working capital. Arewe

3 A.Mr. Drazen's issuethat hewasraising was 3 to take it that this represents an additional

4 assuming that we were having the use of all 4 source of working capital which is not

5 thisinterest for aperiod of time, whichin 5 reflected on the rate base?

6 fact is not correct because of the fact that 6 A.Yes, because of thefact that the rate base,

7 our interest calculation and the interest run 7 theamount that’sincluded inrate base is

8 wedo isaniterative process. So what it 8 based on aLead Lag Study.

9 does do on a month-by-month basis, it 9 0Q.Yes
10 literally factorsin the impact of receiving 10 A.What you're seeing here is an actual
11 these funds and receiving theinterest on a 11 comparison at apoint in time, which are two
12 month-by-month basis. So that was taken into 12 different methodologies, giving you two
13 account in doing the calculation of the 13 different results. But what that would imply,
14 interest run. 14 if that wasthe case then, isthat we have
15 (10:00 am.) 15 availability of fundsto beused for other
16 Q. And justto, finally onthis 1c-406, and 16 purposes.
17 that’ s a helpful explanation, Mr. Roberts, the 17 Q. Thank you, sir.
18 final line of the exhibit refersto net cash 18  A.Butit'sonly of a short-term nature.
19 working capital and | take that to correspond 19 Q. lwant totakto you--takeyou briefly to
20 to the figure of $23,205,0007 20 Exhibit JCR-1, Mr. Roberts, somewhat related
21 A. That'sthe average of the 2003/2004 for those 21 question, and thisisentitled Cash Working
22 categories beginning with accounts receivable 22 Capital Allowance, Analysis of Semi-Annual
23 and ending in accrued interest, lessor plus 23 Long-term Bond Interest Payments, and thisis
24 or minus the adjustment relative to rate base 24 your document, | takeit, isit, Mr. Roberts?
25 to see what the differenceis. 25 A Yesitis.
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1 MR. SEVIOUR: 1 through the detailed interest run. It does
2 Q. And does this address the issue that you just 2 reflect it.
3 covered off in returning to 1C-238? 3 Q. Onequestionl hadandit'sa fairly smple
4 A Yes 4 one, if weturn to Table 3 at page seven of
5 Q. Okay. 5 your report. This details the identification
6 A.This is illustrating the impact of the 6 of the timing differences that you adverted to
7 approach that wasbeing referred to by Mr. 7 amoment ago, | think. Isthat fair to say?
8 Drazen and illustrating the way that through 8 A Yes
9 Hydro's iterativeinterest model what the 9 Q Werelooking at, particularly in thethird
10 actual impact happensto be. 10 column, investment account earnings which |
11 Q. Yes, and as| understand your conclusion, and 11 take it to reflect the investment accruing to
12 | think I have your point that notwithstanding 12 the earlier than required payments on account
13 that Hydro does receive payments on account of 13 of the long-term debt?
14 ultimate long-term debt payments in advance, 14  A.Yes, this is reflecting the paymentson a
15 through its rates, and it does receive 15 month-by-month basis and the imputed amount of
16 earnings on those advance payments, that Hydro |16 interest that would be reflected through the
17 adjustsfor thisin its reported cost of debt? 17 interest run.
18 A.Yes, this isreflected back throughin the 18 Q. Andinthe example, which | think isall just
19 calculation of the interest run. 19 illustrative, we show that in ayear by reason
20 Q. And the weighted average cost of capital - 20 of these month-by-month payments, thereisan
21 A.Yes. 21 accrued balance of $5,326 standingin the
22 Q.- which feedsinto the cost of service? 22 investment account?
23 A. That’scorrect. 23 A.Yes andthat's-
24 Q. Sothat there is an adjustment? 24 Q. Inyour hypothetical ?
25 A.So itis taken careof when yougo back 25 A.Yes, andthat's what's used then to help
Page 43 Page 44
1 retire the debt service. 1 donea forecast inthe April period which
2 Q. And that's my question. What, in fact, 2 would have been reflected in the June results.
3 becomes of those funds? How are they applied? 3 Any forecast that would have been done in the
4  A.Well, what you're calculating is the interest 4 first quarter ending March 31st, 2003 would be
5 that you would have from doing thisand it’s 5 negligible at that point. As| mentioned, we
6 just reducing the interest costs that will be 6 have a mandatory review period for acomplete
7 determined by having the availability of these 7 review of all costs and that’s donein April,
8 funds. So it reduces the short-term debt 8 in consultation of the normal time that you
9 requirement for which interest will be added 9 would be doing your budget, and also again, in
10 to or subtracted from. 10 late September/early October as you're trying
11 Q. Okay. Ithink | understand your point. | 11 to finalize your next year’s budget and your
12 just have a couple of final points to 12 most recent forecast for the current year. In
13 conclude, Mr. Roberts. You recall yesterday 13 light of the way that 2003 was elevated for
14 we looked at a number of quarterly reports 14 purposes of filing this application, we
15 that included forecast income statements. | 15 actually did afinal review of the 2003
16 don’'t plan to take you to them, frankly, sir. 16 resultsin December of 2002 and then another
17 If you'd like to turn them up, I’ d be happy to 17 final look in February of 2003 because it
18 dothat with you. It'sww-1 and ww-2, | 18 takes six to eight weeks to take these numbers
19 think. And these reports reflected, as | 19 and churn them through rates and do iterations
20 understood it, in the income statements 20 and come back and recognize that you' re still
21 reviewed with Mr. Kelly, they reflected moving 21 doing evidence, but you don’'t have fina
22 forecasts as against actuals year to date for 22 numbers until al this iteration and rate
23 each quarter? 23 designis done. So your cut-off point for
24 A.Yes, with the caveat, as | had mentioned, that 24 2003 was basically in around about February of
25 in normal circumstanceisthat we would have 25 2003. And consequently, in light of that, a
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1 MR. ROBERTS: 1 relation to that, | don’t think it'samajor
2 decision was made that we wouldn’t be doing an 2 job to add another column toit and put it
3 update in April because the update relative to 3 down. The budget amounts stay as the budget
4 2003 would be done in thefall for this 4 for the whole year, so if it's of value to the
5 hearing. So the decision was made to wait and 5 Board, I'm sure that we could accommodate
6 doit atthat time, rather thanto try and 6 that. (Undertaking)
7 accomplish one and then haveto go back and 7 Q. Thank you. | wanted to conclude by discussing
8 revisit everything again. We decided that we 8 the return on equity that’s being sought on
9 would only do one. 9 this application by Hydro, and that’s areturn
10 Q. When we went through this in the exercise of 10 on equity of 9.75 percent, which represents an
11 your discussions with Mr. Kelly on these 11 increase from 3 percent from the last general
12 reports, it occurred to me that it would have 12 rate application. Isthat correct?
13 been helpful if the reportsreflected the 13 A Yes itis.
14 budget for the year in question, in addition 14 Q.If welook atyour Schedule 2 for amoment,
15 to the information that’s currently reflected 15 the return on equity that is sought is shown
16 in them, and | just wanted to get your 16 inline 35 at atotal amount of 19,384,000, is
17 reaction to that. 17 that correct?
18 .1 guessif the Board so desiresto havethe 18 A.No, I'm going to take you back to our
19 annual budget reflected on the reports, we can 19 discussion this morning.
20 quite easily accommodate that request. What's 20 Q. Sure.
21 being presented now has been, | guess, through 21  A.Thisistheallocation of thereturn on rate
22 agreement and discussion with the Board as to 22 base into the components that we require for
23 what they would liketo see, but if they were 23 an income statement. Asyou’'ll recall from
24 interested in seeing what the annual budget 24 our discussion thismorning, what rates are
25 was and how the annual forecast ismovingin 25 being based onisthe amount that's in Mr.
Page 47 Page 48
1 Greneman’s cost of service, and | think the 1 Q. Anhour or so.
2 number is 15 million dollars. 2 MR. KENNEDY:
3 . 15 million. 3 Q. Certainly, I'll bring usto the break at 11,
4 . Okay, thisis just an allocation of--what 4 if that’s appropriate.
5 you're seeing in my revenue requirement is an 5 CHAIRMAN:
6 alocation of that total rate base between 6 Q.| wasthinking it would appear we might finish
7 interest and margin, but what' s actually used 7 early today, so I'd like to take the break at
8 for ratesiswhat’sincluded in Mr. Greneman’s 8 quarter to, if that’s okay with you.
9 evidence, which is there on the screen, which 9 MR. KENNEDY:
10 isthe 15,052. 10 Q. That'sfine
11 Q. And doyou know or can you tell us, and 11 CHAIRMAN:
12 perhaps--no, I'll leave that question for 12 Q. If you could zero in on that.
13 another witness, Mr. Roberts. Thank you, Mr. 13 MR. KENNEDY:
14 Roberts. Those are my questions. 14 Q. Sure.
15 CHAIRMAN: 15 CHAIRMAN:
16 Q. Thank you, Mr. Seviour. Thank you, Mr. 16 Q. I'd appreciateit. Given the nature and
17 Raoberts. Good morning, Mr. Kennedy. 17 content of the discussion this morning, we
18 MR. KENNEDY: 18 might all appreciate 15 minutes early.
19 Q. Thank you, Chair. 19 MR. SEVIOUR:
20 CHAIRMAN: 20 Q. For that, | take some responsibility and
21 Q.Do you have any idea if you'll be 21 apologize, Mr. Chairman.
22 approximately how long? 22 MR. KENNEDY:
23 MR. KENNEDY: 23 Q. Wadll, | canvassed all the funny stuff in the
24 Q.| wouldn’t suspect it'll be more than an hour. 24 application last night. Mr. Roberts, when you
25 CHAIRMAN: 25 testified on October the 14th--I wonder if,
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1 MR. KENNEDY: 1 was less than 10 percent.”

2 Mr. O'Relilly, you couldjust pull up that 2 (10:15am.)

3 transcript, on page 13, and interesting 3 So | guessto the person just reading

4 enough, similar to my review of transcripts 4 that, on itsface value, it could imply that

5 with Mr. Wells, this happens to be a passage 5 Hydro ismotivated to spend all the capital

6 where you're getting some well-phrased 6 budget that’s approved, just sothat there

7 questions from your counsel, and they’'re 7 won't be adiscrepancy between the approval

8 equaly well-phrased replies. And in 8 and then the actual expenditure for the

9 particular, at line 11, your counsel referred 9 purposes of what goesinto the rate base for
10 to the report of Grant Thornton and how Grant 10 the test year, and | don’t imagine that’ s what
11 Thornton made certain observations with 11 you meant. So | wonder if you could just
12 respect to Hydro' s history of spending onits 12 elaborate on thispoint for us. How isit
13 capital budget. And "will Hydro be factoring 13 that Hydro’s achieving this reduction in
14 any allowancein the calculation of itsrate 14 percentage of under spending? Isit inthe
15 baseto provide for potential under spending 15 application processitself, or isit in the -
16 of the capital budget in thetest year?' and 16 .We're getting better in completing the
17 we know generally what that issue involves, as 17 projects on time and within the year in which
18 aresult of the exploration of the issuein 18 they were budgeted to be compl eted.
19 the 2001 hearing. And your reply was that 19 Q. And on previous occasions then it was the case
20 "Hydro has steadily improved itsrecord with 20 of Hydro’s, some of Hydro’'s spending on its
21 respect to meeting its capital budget and has 21 capital budgets would be carried over into the
22 reduced the percentage of under spending by 50 22 next year?
23 percent from 1998 to 2002." And you say "in 23 .Yes, that's, infact, correct. And inthe
24 2002, even given thelate approval of the 24 case of some of the projects such as amulti-
25 capital budget, Hydro’stotal under spending 25 year project, it could be just afunction of

Page 51 Page 52

1 cash flow asto when the costs were actually 1 extra maintenance requirementsin these areas

2 incurred versus the work. Butin total the 2 included inspections and replacement of wood

3 project would still be completed within 3 poles, reconditioning transformer oil at the

4 budget. 4 Bay d'Espoir site, repairs to air blast

5 Q. Theother question | wanted to ask in relation 5 circuits at Sunnydale (sic.), repairs to

6 to thiswas just some general questions about 6 diesel units dueto aleak inthe exhaust

7 Hydro's policy regarding the booking of 7 manifold, radiator and generator failure and

8 expenses, vis-avis whether they’ re operating 8 an overhaul on diesel unit." Am | gathering

9 or capital. Andif wecouldturn to Grant 9 correctly that Grant Thornton’s referencing
10 Thornton’ s report of 2003? Page--we'll start 10 theseitemsthat they are, infact, or have
11 at the bottom of page 41, Mr. O'Reilly, just 11 been booked by Hydro asoperating expense
12 so we can get the heading so the witness can 12 items?
13 see where we are. Mr. Roberts, page 41, yeah, 13 A.Yes
14 therewe go, at the bottom therethis isa 14 Q. Andif that’sthe case, could you explain why,
15 section on adiscussion that Grant Thornton 15 for instance, the replacement of awood pole
16 did on the system equipment maintenance budget |16 would not be considered to be a capital item?
17 category. And then if we go to the next page, 17 . There saquestion of materiality that would
18 Mr. O'Reilly? Here wego. Andthere's a 18 come into play onto what would be capitalized
19 breakdown there of the figures per 19 relative to wood poles. For instance, we look
20 transmission and rural operations, production 20 ataline intotal. If wereplace amajor
21 and so on. The next paragraph at line 2, "In 21 portion of the line, then we would capitalize
22 2002 therewas a significant increasein the 22 it. Butif you'rereplacing apole here and a
23 TRO division which was primarily due to 23 pole there, we would not. So the lineitself
24 certain non-recurring extra maintenance cost 24 isthetotal unit of property in the asset.
25 inthe central and northern regions. The 25 So if the line happens to have 500 poles and
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1 MR. ROBERTS: 1 A Yes
2 there’ s three or four broken off, we would not 2 Q. And one of them is roof replacement, $215,000?
3 capitalize them, we would not try to write out 3 A Yes
4 the old and find away to capitalize that. 4 Q. Soagan, am | gathering correctly by Grant
5 Q. Sothetreatment of whether it's capital or 5 Thornton’s discussion that expenditure for
6 operating is based in part on the nature of 6 roof replacement was booked as an operating
7 the - 7 expense?
8 A.There's an element of judgment that's 8 A.Yes itwas
9 exercised in thework that's done as to 9 Q. And could you tell me why that would have been
10 whether or not it would represent a 10 booked asan operating expenseinstead of a
11 significant portion of the line. 11 capital expenditure?
12 Q. Okay. Sointhe caseof poles, only if it'sa 12 A. Il think you'll find that the roof replacement
13 substantial improvement of the line - 13 was only a partial replacement and we would be
14 A. Asubstantial improvement that’s going to 14 looking at the total building asa whole.
15 impact on theline. The replacement of a 15 Like, the replacement of a partial roof is not
16 broken pole within a complete line structure 16 going to change the--is not going to extend
17 would not be capitalized. 17 the life of the building as a unit.
18 Q. Okay. A little later down on the same page, 18 Q. Okay. So-
19 the second-last paragraph, yeah, there's 19  A. Soit would be like replacing the shingles on
20 reference there to production department and 20 your roof, you know, your houseis still good
21 maintenance costs have been forecast to 21 for 40 or 50 years and you anticipate over
22 increase. There' s an explanation then that 22 that period of timethat you may have to
23 goes on concerning Holyrood. And then these 23 replace your shingles two or threetimes. In
24 projects include heat tracing refurbishment. 24 this particular casethere was a partial
25 Y ou see where | am? 25 replacement on the roof.
Page 55 Page 56
1 Q. Okay. Sothat'sthekey is, it was apartia 1 Q. In 2003 and 2004 are above 2002 levels. There
2 replacement? 2 is an increase of 65,000 in 2003 and another
3 A.Yes. And most of theseit’sa function of 3 73,000 in 2003. "Hydro advisesthat thisis
4 looking at what the work was done in 4 due to the escalating prices for the cost of
5 relationship to the asset that’sthere and 5 software.”
6 then that will help dictate asto whether or 6 A Yes
7 not it should be capital or operating. 7 Q. Couldyou just tell us what your policy is
8 Q. So ifit was acomplete replacement that 8 regarding the booking of software expenses as
9 extended the life or was expected to extend 9 operating versus capital ?
10 the life of the building, thenit would be 10 A.Our point inwhich wewould capitalize new
1 booked as capital ? 1 softwareis $25,000. So anything less than
12 A.Yes. If it impacts on the remaining life. 12 $25,000 we do not capitalize. And in the case
13 Q. Andthat’sa judgment made by you on advice 13 of licences, they are expensed, wedo not
14 received from engineers? 14 capitalize them.
15  A. That would be through the staff that do work 15 Q. And so are there other items that--or
16 for me based on the information that would be 16 categories of expenditures that are determined
17 provided from the individuals that are raising 17 to be operating versus capital based on the
18 the capital budget proposals and subsequently 18 amount of money that’s being spent other than
19 acapital job cost to complete the work. 19 the one you just told us, software?
20 Q.Okay. Theother curiosity wasat page 45. 20  A. I think there are materiality limitsthat we
21 And thiswas under the professional services 21 would look a in various areas of
22 section of Grant Thornton’s discussions. And 22 expenditures. Just trying to go from memory
23 it's the second-last paragraph on that page, 23 now.
24 the forecast fees for software acquisitions. 24 Q. lsthe materiality trigger aproxy for when
25  A.Yes. 25 the asset that’ s being purchased would be
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1 MR. KENNEDY: 1 equipment rentals’. Do you see where | am?
2 considered to be - 2 A.Increase, yes.
3 A.Whether or not it'sa substantial benefit or 3 Q. Okay. Itsays, "Theincreasein equipment
4 improvement to a particular facility and 4 rentals is attributed to the increase in cost
5 whether or notit's just a component of a 5 of leasing communication circuits,
6 unit. 6 interconnection costs and some licensing
7 Q. Because certainly Hydro does apply for 7 costs.” And then it goes more specifically,
8 approval as part of its Capital Budget 8 "Thereis anincrease of computer costs of
9 Applications process for the acquisition of 9 109,000 from 2002 to 2004. Thisis due to the
10 software, so there are instances whereitis 10 increase in computer costs mainly related to
11 treated as a capital item? 11 the extra disc space required for the disaster
12 A.Yes. Butthey would haveto bein excess of 12 recovery plan.” So again, was that an
13 $25,000. 13 operating expense as opposed to a capital, and
14 Q. Okay. Sonow the increaseshere are above 14 if so, why would that have been the case?
15 25,000, 65,000 in 2003 and 73,000 in 2004, but 15 A.Wehaveactually leased extradisc spaceto
16 that - 16 the disaster recovery at an off site location
17 A.l canonly assume that - 17 and that’ swhy there’ s an increase in the cost
18 Q.- must be busted up, up among awhole bunch of |18 of storing that information on somebody else’s
19 different items? 19 site. Wedon't actually own the disc space,
20  A. - that will be acombination of several items 20 we're actually renting the disc space to store
21 that would accumulate to the 65 and the 73. 21 our information as part of disaster recovery.
22 Q.Okay. Isthat similar thento if wego over 22 Q.Okay. Andthat'snot treated as the capital
23 to page 47, and thisis inthe other cost 23 lease?
24 category and it’ s the second-last paragraph on 24 A.No.
25 that page. Begins with "The increase in 25 Q. Okay. | wonder if I could just turntojust a
Page 59 Page 60
1 more general discussion about the rate base 1 interpretation to the lawyers. But | wanted
2 itself? Andif we could pull up P.U.B. 110, 2 to ask you then some general questions about
3 please? | just wanted to make sure we have 3 your rate base itself in light of this
4 this up first, Mr. Roberts, so we could 4 position. The first thing, though, one of the
5 provide the segue, if you will, for the 5 things that caught my eye in the Grant
6 discussion. And thiswasthe question that 6 Thornton report, the same one we were looking
7 was put to Hydro about its intention to 7 at, the 2003 GRA Report was at page 18. And
8 conduct avauation of its rate base? 8 it'sin thebullets, it'sthat last bullet
9 A.Yes. 9 there, it says, "2002 retirements were
10 Q. Okay. And sothat it could befixed and 10 adjusted for 1.1 million associated with the
11 determined in accordance with Section 64 and 11 fireloss at Rencontre aswell as 4.2 million
12 68 of the Public UtilitiesAct. And then 12 related to the write off of assets at their
13 there' sareply, if we could just scroll down, 13 Holyrood plant as a result of a physica
14 it reference the Hydro Corporation Act 17(2). 14 verification of assets." Now, were they--they
15 And then if we couldjust scroll, I think 15 were capital assets?
16 that’sthelast of the answer, but it says, 16 A.Yes, they were.
17 the last sentence, "The legislative direction 17 Q. Okay. And could you just give us alittle bit
18 found in subsection 17(2) the Hydro 18 of background on what took place there?
19 Corporation Act precludes and obviates a 19 A. Thenumbers that you're seeing hereis the
20 valuation of Hydro's rate base under Section 20 original capital cost. So the $1.1 million is
21 64 and 68." So that’s the Company’s position 21 the original capital cost of the assets that
22 regarding the fixing and determining its rate 22 were destroyed at the fire at Rencontre East.
23 base, correct? 23 And -
24 A.Yes. 24 Q. Yeah. Actudly, | probably should have made
25 Q.Okay. And well leave the legd 25 it clear. | wasn't concerned with Rencontre
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1 MR. KENNEDY: 1 Q. Sothe4.2 million original cost assets that
2 East, | was more - 2 were written off, would that have been a
3 A. Youwere concerned about Holyrood? 3 combination of itemsthat were obsolete and
4 Q. Yeah. 4 itemsthat just weren't there?
5 A Wdl- 5 . From going from memory it was a difference of-
6 Q. Wondering how isit--what was the process that 6 -we did anactua physical count of the
7 Hydro employed to get to that? 7 assets, we matched them to our fixed asset
8 (10:30 am.) 8 records and what we discovered is that when we
9 A.Yes I'll just cometothat. And the same 9 received the disposal form from the area
10 answer isthere, that the $4.2 million worth 10 saying they disposed of an asset, of course,
11 of assets at Holyrood isthe original capital 11 you got different terminology that’s being
12 cost. The actual net book value of the assets 12 used. And we wrote out what we thought was
13 that were written off is $800,000. And that 13 exactly what they did, but the physical
14 arose as outlined by Grant Thornton in their 14 verification says no, there were some other
15 report. One of our process reviews that we 15 records that we had called something different
16 are in the process of undertaking is matching 16 than what the field was, but was exactly that
17 al of our physical plant recordsto every 17 same particular asset and should have been
18 single piece of equipment that exists out into 18 written off.
19 thefield, and we'redoing it location by 19 Q. Okay.
20 location. When the verification of Holyrood 20 A. S0, like, forinstance, inthis particular
21 wasdonein 2002. It wasdiscovered onthe 21 case theimpact onrate base isnot $4.2
22 physical count that we had certain records 22 million, the impact on rate base would have
23 recorded within our capital assetsfor which 23 been whatever that net book valueisthat -
24 they had been disposed and asa result the 24 . The 800,0007?
25 adjustment of $800,000 had to be madein 2002. |25 .Yes. Or -
Page 63 Page 64
1 Q. Yes yes. Thisprocessthat you described of 1 . Early next year?
2 matching all your physical plants to the 2 .1t'1l beout into early next year. And the
3 actual field conditions, your physical plant 3 reason why | say that isthat | know froma
4 records to the actual field conditions, when 4 financial perspective recorded in our
5 did Hydro embark on that process? 5 financial recordswe have 35,000 records.
6 A.Itreally commenced in late 2002 with Holyrood 6 When you go to the various areas, of course,
7 being the closest place to tacklefirst and to 7 that multiplies significantly because| may
8 extracting information from our financial 8 have a generator at Holyrood or a generator at
9 records and then by utilizing finance 9 Bay d Espoir as one unit, whereas within their
10 resources and resources from Holyrood, start 10 equipment records that may be multiple pieces
11 matching what wasin their equipment records 11 of equipment. Soyou're trying to do that
12 at the plant versus our financial records and 12 match and tie up what afixed asset record is
13 try to do the match oneto one or one to many, 13 and what’s the other side of the equipment
14 whatever the ratio happened to be. And once 14 record so that processis ongoing, aswell as
15 that was accomplished, thento investigate 15 to identify any additional items that should
16 what was |eft over on both sidesto seeif 16 be either added or deleted from the fixed
17 something can be found as to whether or not 17 asset records.
18 there was something that should have been 18 . Does thisreview that’s being conducted as you
19 recorded or if there was, in this particular 19 describe it include any elements of a
20 case, some assets that should have been 20 determination of the--whether the asset on an
21 written off at an earlier date. 21 asset-by-asset basisis still used or useful ?
22 Q. How long will it take Hydro to complete this 22 . Yes, it will, because we're dealing with the
23 process that it started in late 2002? 23 plant who know theserecords and if they’'re
24  A.lt'sgoingto beoutin early 2004 before we 24 not being used, then they would provide that
25 finish the process. Just to give - 25 information to us.
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1 MR. KENNEDY: 1 Hydro within the Province of Newfoundland and
2 Q. lIsthat implicit in the process? 2 Labrador activities exempted by specific
3 A. That'simplicit in the process. 3 legislation and costs specifically identified
4 Q. Soit'san--and so the reverse of that, it's 4 by the Public Utilities Board as being non-
5 not--isit fair to say it's not an expressed 5 recoverable from ratepayers." So that’s your
6 initiative by Hydro to conduct areview of its 6 definition of non-regulated operations,
7 assets to determine whether each and every one 7 correct?
8 of them that’s intherate baseis used and 8 A.Yes
9 useful ? 9 Q. Allright. So yourecognize thatin this
10 A. No, that'snot theidea. The objectiveisto 10 jurisdiction for something to be approved from
11 match financial records with equipment records 11 aregulatory perspective to bein your rate
12 and to identify any differences and make the 12 baseit must be used and useful in, inyour
13 appropriate adjustments if deemed necessary. 13 case, the generation, transmission and
14 Q. Now, inyour Exhibit JcrR-2, page 1, thisis 14 distribution of electrical power and energy?
15 your report on the non-regulated operations, 15 A.Yeah, it has to be used and useful inthose
16 Mr. Roberts? 16 areas of our activities.
17 A. Just give me one second. 17 Q. Okay. | wonderif wecould goto NP-91,
18 Q. Okay. 18 please, Mr. O'Reilly? And you just--I think
19  A. So many bindersit’s - 19 it'stwo pages over, so page 3 of 4. Thiswas
20 Q.Yeah. Youneeda computer. Right inthat 20 the question asking you to provide some
21 first paragraph you indicate in this exhibit 21 details concerning the calculation of plant
22 that "All costs associated with any asset 22 investment and rate base?
23 which is not used and useful in the generation 23 A.Yes
24 transmission and distribution of €lectrical 24 Q. And there was some questions | had justin
25 power and energy by Newfoundland and Labrador 25 relation to this. Oneisyou have alineitem
Page 67 Page 68
1 there, No. 19, non-depreciableland plant. 1 deduct other items."?
2 Could you just explain what that is? 2 A Yes
3 A It should represent the value of land which is 3 Q. Couldyou just tell uswhat that is?
4 not subject to depreciation, but yet, within 4 A That item inparticular here that you're
5 our category of plant it’s there as a separate 5 seeing here is some assets that are related to
6 item. 6 Muskrat Fallsin Labrador.
7 Q. Sowould that be vacant land, then? 7 Q. Okay. Mr. O'Reilly, you can keep that handy
8 A.No. That would be dl land, theland at 8 because we're going to come back toit. If we
9 Holyrood, if we happened to own it, and land 9 could just go to Schedule 3 of Mr. Roberts
10 is not a depreciable asset. 10 testimony? So, Mr. Roberts, thisisagain, |
11 Q. Sointhecaseof general properties, that's 11 guess, sort of just a restatement of some of
12 just the building infrastructure, correct? 12 the same information to get your rate base
13 A.It's general properties. You know, your 13 figure. Andyou can see we've got the total
14 buildings, things that are subject to 14 capital assets and then less the contributions
15 depreciation. But land isan un-depreciable 15 and aid cumulated depreciation. Then you have
16 asset. 16 Muskrat falls and then assets not in service.
17 Q. Okay. Couldwejust scroll one more page? 17 So that’ s what you were indicating previously?
18 Thisis acontinuation of the same - 18 A.Yes. Soyour twenty, eight-four that was back
19  A.Yes, I'mfamiliar withit. 19 herein NP-9listhe twenty, ten, plusthe
20 Q.- chartsjust brought forward. So we start 20 seventy-four.
21 off with the plant investment less your work 21 Q. Right. And | understand Muskrat Falls a non-
22 in progress? 22 regulated activity -
23 A.Yes. 23 A. That’scorrect.
24 Q. Right. And thenyou deduct certain amounts 24 Q.- and so it gets excluded from your rate base.
25 here. Andyou've got line item 32, "Add, 25 What are assets not in service?
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1 MR. ROBERTS: 1 an operating asset in Holyrood toa Code 7
2 A Alll cantell you isthat somebody has done a 2 which is an asset held for disposal. So, when
3 review of the plant balances and these records 3 the staff preparing the cost of service go
4 arenot in serviceand had been removed from 4 through fixed assets, they look at the
5 the cost of service. Asto what makes up a 5 categories of the assets, and what the assets
6 74,000, | honestly couldn’t tell you at this 6 not in service should represent are assets
7 point. 7 that we have on hand at net book value at this
8 Q. Sowouldthatin any way relateto a useor 8 particular point intime that are held for
9 useful or isthisjust sort of aplug to - 9 disposal or for sale or not related to being
10 A.No,thisisnot aplug. Thiswould be based 10 used and useful in the operation.
11 on identification of specific assetsthat are 11 Q. So now the--so a couple of questions. Oneis,
12 not in service and not being used. 12 soin relationto Hydro's proposal on rate
13 Q. And so isthere a person in Hydro responsible 13 base that you have an average rate base of one
14 for doing that, for - 14 billion, 485,450 for your test year?
15 A.Thisis oneof the exercisesthat we would 15 A.Yes
16 form part of completion of the cost of 16 Q. All right. And that--and am | gathering
17 service. The staff members that are preparing 17 correctly then that the only lineitem that is
18 the cost of service go through the detailed 18 provided in any of your filings from what |
19 listing of the fixed asset records and within 19 could see regarding assets not in serviceto
20 our system. For instance, aswe take a 20 quantify them for which you do not get arate
21 vehicle and wetake it out of service and we 21 of return on that it’sthis, in the case of
22 park it in the yard and wait for adisposal, 22 2004, this 74,000?
23 within our financial records in fixed assets 23 A.Wadll, it would be the 74 plus the twenty, ten
24 we would change the category number on that 24 for Muskrat Falls.
25 particular asset, say, from a one representing 25 Q. Yes. And Muskrat Fals, it clearly, it'san
Page 71 Page 72
1 asset though that’ s quite used and useful, but 1 and ahalf percent, depending on what asset
2 it's non-regul ated? 2 class you're obtaining your working cash
3 A.Yes butit'sdtill in our plant records, so 3 alowance for, correct?
4 westill removed it so that it's not being 4 A lt'sbased ontheanalysis of the Lead Lag
5 figured in with the rate base. 5 Study associated with the revenue and the same
6 Q. Now, you, | believe--and we don’'t haveto go 6 principal being applied to cost asto the lag
7 toit, but just for the Panel members, NP-101, 7 that’srequired there and then factoring in
8 you make an adjustment in your interest rate 8 the impact of what HST does to the
9 calculation to take out the interest on assets 9 availability of fundsaswell because you do
10 not in service, correct? 10 have some utilization of funds on the timing
11 A. Yes, there has been an adjustment made. 11 of when that’s paid, as well.
12 Q. Okay. Now,the nextitem | just wanted a 12 (10:45am.)
13 quick question on was your cash working 13 Q.Ic-406, if we could, Mr. O'Relilly. And this
14 capital allowance. You've got booked at 14 was a response that--well, it'sa question
15 3,057,000 for your 2004 test year, correct? 15 directed to yourself concerning the excess of
16 A Yes 16 assets over capital structure and then sort of
17 Q. Andthat cashworking capital allowance is 17 areconciliation of some of the figures. And
18 based ona formula, it'sa percentage of 18 as was explained in your answer, your balance
19 various other figures, correct? 19 sheet figures may not necessarily jive with
20 A.Yes It's | believeit's- 20 your regulatory filing?
21 Q. It'sinyour--it'sin one of your schedules, 21  A.That'scorrect. There can bea difference
22 actually. 22 because here you'relooking at an absolute
23 A.lt'sapercentage, | think it's5.23 percent 23 point in time versus different methodol ogy to
24 or something like that - 24 calculate an amount for rate base.
25 Q. Yeah, | think it'sfor three percent and two 25 Q. Sure. Andinyour case of your balance sheet
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1 MR. KENNEDY: 1 capital inthat according to your balance
2 there'sanet cash working capital lineyou 2 sheet you had an average of 20 million, 148 in
3 have there? 3 working capital available to you?
4 A Yes 4 A What I’ve shownyou is that by picking the
5 Q. For 2004 of 15 million, 246? 5 actual balances as of three and four, thisis
6 A.That'sthe sum of the balances as of 2004. 6 what the results will be. But what has been
7 Q.So am| gathering correctly that for the 7 doneisthe Lead Lag Study, which iscommon in
8 purposes of--and you see then you've got an 8 the preparation of a rate base, and that’s
9 average of 20 million, 148 as between 2003 and 9 looking at theindividual components of the
10 2004, correct? 10 revenue and the cost to try to determine what
11 A. That’scorrect. 11 it should be. So it’s trying to show that two
12 Q. Okay. Andthenwe seethis 3,057,000 figure 12 methodologies here have different results.
13 which is your actual rate base provided 13 The same thing would apply to inventory, if
14 working cash allowance? 14 you're just looking at simple year end
15 A.Yes. That'sthe results of what happens when 15 balanceson an average versus the norm of
16 you go through and do the Lead Lag Study. 16 using 13 months, that givesyou adifferent
17 Q. Andthenthe differenceis23 million, 205, 17 results. Of course, that also impacts on when
18 that's - 18 you'retrying to do your reconciliation of
19 A.Because oneisnegative and oneis positive, 19 your total return on rate base in relationship
20 yes. 20 to how you would allocate between interest and
21 Q. That'sthe swing? 21 margin.
22  A.Yes. 22 Q. That'sagood place to pause, Chair.
23 Q. Am | gathering correctly then that 23 CHAIRMAN:
24 conceptually, according to your balance sheet, 24 Q. Thank you, Mr. Kennedy. Thank you, Mr.
25 Hydro has adequate provision for itsworking 25 Raoberts. We' Il reconvene at quarter after.
Page 75 Page 76
1 (BREAK - 10:48 am.) 1 would appear that there' s been no write down
2 (RESUMED - 11:20 a.m.) 2 of capital assetsby Hydro throughout that
3 CHAIRMAN: 3 entire period?
4 Q. Whenyou'reready, Mr. Kennedy. 4 A That's correct. Line 24, write down of
5 MR. KENNEDY: 5 capital assets, if memory serves me correctly,
6 Q. Thank you, Mr. Chair. Mr. Roberts, | just 6 was related because thisisjust atemplate
7 have a couple of more questions concerning the 7 that'sused. What that linereferred to,
8 Rate Base issue, just before we move on from 8 going back in time, | think was the write off
9 that. Andit'sindicatedinic-10, and if we 9 of the Roddickton Woodchip Plant.
10 could just go--and before we do that actually, 10 Q. Okay.
11 this was again a question directed to Hydro by 11 A Anditwas shown asaseparate item, rather
12 the Industrial Customers asking for actual 12 than being up as part of line 26 where we say
13 costs of the Island Interconnected system. 13 loss/gain on disposal of capital assets. Line
14 A Yes 14 34, back in history, in the year in which it
15 Q. Okay. | wonder if we could just go the next 15 was done, the write down and write off of the
16 page, there we go. And I’'m interested in line 16 Roddickton Woodchip Plant was shown as a
17 34, Mr. O’Reilly, so you can--there we go. 17 separate line item.
18 And these, again, are details concerning the 18 Q. So, that’sjust a hold over from -
19 revenue requirements of Hydro for just the 19 A That'sjust atemplate that was used and the
20 Island Interconnected portion of your cost of 20 lines were there and unfortunately, it should
21 service, as| understand it. And theline, 21 have been probably removed.
22 item, 34 there, write down of capital assets. 22 Q. Now, am | gathering correctly from areview of
23 And am | gathering correctly that if wego 23 CA-59, and just for your reference page 40 of
24 through from 1997 through to 2004, although 24 223, these are the annua reports of
25 there's yearsmissing in between, that it 25 Newfoundland and Labrador Hydro. And there
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1 MR. KENNEDY: 1 Q. And then that would be an additional capital
2 was no line items--I'll just find the 2 expenditure that you would seek specific
3 reference there. Canyou just scroll down? 3 approval for by the Board?
4 Scroll down some more, please? That's the 4  A. Thecriteriaunder the decommissioning costs
5 problem without lineitems, thenyou can't 5 was as set out in the depreciation study and
6 find--the question | had, | just wanted to 6 there it was based on adollar value. And if
7 confirm that there was no provisionin Hydro's 7 memory serves me correctly, if it was less
8 Rate Base for decommissioning and site 8 than a predetermined dollar value, then it
9 restoration and is that a policy that the 9 would be expensed in the year in which it was
10 company has? 10 done, rather than to be capitalized.
11  A.Thepolicy doesexistand itwill bedealt 11 Q. Butinthe case of, for instance, Newfoundland
12 with on assets as new assets are being built, 12 Power had a steam generating plantin St.
13 if it's deemed appropriate. 13 John's here, are you familiar with that?
14 Q. So,in the caseof, for instance, Harbour 14 A.l know they had asteam generating on the
15 Deep, as| understand it, Hydro, when it 15 South Side, yes.
16 decommissioned the plant in Harbour Deep, it 16 Q. Usedto have asteam generating plant on the
17 actually was till ableto usethe diesel 17 South Side. Inthecase, asl| understand it
18 generators that were at Harbour Deep and other 18 anyways, in that case as | also understand it,
19 |ocations in the Province, is that correct? 19 there was, as part of the depreciation of that
20 A.Tothebest of my knowledge, they were removed |20 plant, after it zeroed out, after the plant
21 and will be used elsewhere. 21 was fully depreciated, there was, in actual
22 Q. Was there decommissioning costs and site 22 fact, a continuing depreciation on the plant
23 restoration costs associated with the closing 23 to provide provision for the decommissioning
24 of the Harbour Deep facility? 24 and site restoration work that was expected on
25  A.Yes, therewas. 25 the plant, but Hydro doesn’t do the same thing
Page 79 Page 80
1 init's budgeting? 1 A. Atthispoint, Hydro has not requested arange
2 A.No, it does not. 2 to be set. It has filed the application based
3 Q. Okay. Mr. Roberts, is the last depreciation 3 on the ROE of being nineand three quarters
4 study that Hydro hasobtained isthe KPMG 4 percent. And at this point, we'll be awaiting
5 study of 19987 5 further direction as to what the results of
6 A.Yes itis. 6 this hearing will be.
7 Q. And couldyou tell us whenthat will be 7 Q. Does Hydro also recognize though that the
8 updated? 8 policy inthisjurisdiction isthat arange on
9 A.By order of the Board it's either 2004/2005, 9 the Rate of Returnisemployed and that, in
10 whatever isin P.U.7. I’'m not sure right now 10 turn, is coupled with the definition of an
11 if it’sfour or five, but there is another one 11 excess earnings account?
12 that is scheduled to be completed. 12 A.I’'mawarethat thisis what has been applied
13 Q.| justwant toturnto, now, your return as 13 to Newfoundland Power, yes.
14 applied for. And Hydrois seeking a Rate of 14 Q. Okay. Andas| understand Hydro is suggesting
15 Return on Rate Base of 8.15 percent in the 15 that it should receive a Rate of return on
16 revised filing, correct? 16 this Rate Base, asa factor of aRate of
17 A Yes 17 Return on its equity, similar towhat was
18 Q. Andthat’s based on an embedded cost of debt 18 provided to Newfoundland Power inits most
19 as calculated and a proposed Rate of Return on 19 recent General Rate Application, correct?
20 equity of 9.75 percent, correct? 20 A.Yes, Hydro isrequesting that the--based on
21 A.Yes itis 21 the assessment of risks for Hydro that had
22 Q.Now, you're, | believe onrecord as saying 22 been done by our financia expert, Ms.
23 that you feel that there’s no range required 23 McShane, that the assessment of the business
24 to be set in conjunction with your proposal 24 risksthat Hydro is subjected to are similar
25 for the Rate of Return on Rate Bast as filed? 25 in nature to an investor owned utility similar
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1 MR. ROBERTS: 1 Return on Rate Base actuals area full 100
2 to Newfoundland Power and that’ s the basis for 2 basis points higher than 8.15 percent that’s
3 the request. 3 applied for and if approved, based on the 9.75
4 Q. And Newfoundland Power is subject to aorder 4 percent, would Hydro feel that it should not
5 that imposes arange on its approved Rate of 5 have to take that into account?
6 Return on Rate Base, correct? 6 . If the Board approves, asfiled and doesn’t
7 A.Yes, | believe you arecorrect, 50 basis 7 provide arange, then from my perspective and
8 points. 8 I’m not a lawyer and I’m not prepared to go
9 Q. So, wouldn’t you agreethat, | guess, inthe 9 down that route, then!| don't think there
10 case of Hydro, you should get the "fleas with 10 would be any option to Hydro, other than to
11 the dog" asthey say. That if you're going to 11 advise the Board that we have exceeded what
12 get or apply for aRate of Return similar to 12 they have approved and seek guidance from the
13 that of Newfoundland Power, that would entail 13 Board, either to do a refund or whatever may
14 aso those additional and regulatory 14 be directed by the Board at that point.
15 principles of ranges on that approved of Rate 15 Q. Okay. So, what curiosity, inyour financia
16 of Return and then coupled with that, the 16 projections for 2003 to 2007 is filed under
17 definition of the excess earnings account? 17 CcA-3and if we go to roman numeral four first,
18 A. The Board does havethat power and direction 18 no back apage, it was the executive summary
19 to establish arange both onthe Return on 19 that you had, yes, there you go. There' stwo
20 Rate base as well as the ROE, the same as what 20 provisions, I'll just draw them out first and
21 they have done for Newfoundland Power. The |21 then I’ll get you to comment on them. It's
22 only thing that may be different is the spread 22 the second bullet there. It says the years
23 that would be there, whether or not it would 23 2004 onward are projected to betest years
24 be treated the same or not. So, just asa 24 meaning that rateswill be adjusted annually
25 hypothetical, let’s say in 2005 your Rate of 25 to recover each year's cost. And then over on
Page 83 Page 84
1 page 13. It's headed rates, Mr. O’ Reilly, no, 1 . Yes, and this model isexactly that; it'sa
2 one more page forward, thereyou go. The 2 model that’s at avery high level. It'snot
3 first paragraph there, Mr. Roberts, says this 3 trying to design and do detailed cost-of-
4 financial projection is prepared on the basis 4 service studies and it’ sto be illustrative of
5 that 2004 through 2007 would be test years 5 what would happen, well, over time based on
6 meaning there are annual rate adjustments. 6 the assumptionsthat are applied here. And
7 Detailed cost-of-service studies have not been 7 it'sexactly that, theillustrative isthe if
8 completed for 2005 and beyond. However, rates 8 costs were changing and you wereto maintain
9 have been estimated using Hydro’'s planning 9 your return on equity of 9.75 percent, here's
10 models that use simplifying assumption. 10 what would theoretically happen over that
11 Projected rates and rate changes are believed 11 period of time.
12 to beindicative based onthe assumptions 12 Q. Okay. Butwhenit says, meaning there are
13 used, but not as precise asif detailed cost- 13 annual rate adjustments, what does that mean?
14 of-service studies were available. Is the 14 Doesit mean that -
15 term test years being used in this document 15  A.No. What the model has doneisit has |ooked
16 different than the sense of test year used for 16 and it says, well, are you still holding, say,
17 the regulatory process? 17 at your 9.75 percent. If you haven't, then
18  A. No, what we're saying there isthat the test 18 your costs have changed. What is your new
19 year would be exactly as we're doing now for 19 mill rate.
20 2004, that level of detail has not been done 20 Q. Okay. Buy Hydroisnot proposing as part of
21 in this financial model. 21 this application of forecast rate adjustments
22 Q. Yes. So, your rates--you’ re seeking approval 22 for 2005 and 2006 and so on?
23 for rates based on acertain rate of return 23 A.No. This financia projectionis exactly
24 and revenue requirement for 2004. So, that’s 24 that, it’sjust a projection based on a bunch
25 your test year, 2004. 25 of assumptions.
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1 MR. KENNEDY: 1 million seven seventy seven?

2 Q. Okay. 2 A.Yes

3 A.Andarequirement for other than that would 3 Q. Allright. Andthat represents 1.41 percent

4 require full-fledged hearings similar to what 4 of your total operating expenditure, correct,

5 we're going through now. And the intention is 5 your total cash -

6 not hereto come back every year for arate 6 A.Yes | believe so.

7 hearing. 7 Q.- outflow.

8 Q. Yourenot masochists? (Laughter). Okay, | 8 A Yes

9 just wanted to turn to intercompany charges, 9 Q. Now, one question before we move off of this
10 if we could, Mr. Roberts. And thefirst place 10 exhibit, the "number of days" column, thisis
11 we'll start would be PUB-13, page 4 of--well, 11 the numbers of days used in your Lead Lag
12 just look at the question first. Thisis, 12 Study, correct?

13 provide al studies, documents, data, so on 13 A.Yes

14 and so on and cal culating the total amount of 14 Q. All right. And it's indicated that the

15 cash working capital, inventory supplies, 15 CF(L)CO recovery has a 30-day allotment

16 deferred charges. 16 factor.

17 A.Yes 17 A. That'swhat is shown there, yes.

18 Q. Okay. If we could go to page 4 of 7, there we 18 Q. All right. Now, as| understand it, the way

19 go. | just wanted to getthe order of 19 that Hydro bills crL)co for itsintercompany

20 magnitude. So, we have atotal operating 20 chargesisthat it sets a budget for the year.

21 expense for 2004 of ninety eight million eight 21 In this case for 2004, $1,777,000.00, correct?

22 twenty five, correct, ninety four eight twenty 22 That’s the budget for 20047

23 five? 23 A.Yes, I'll accept.

24 A. Ninety four eight twenty five, yes. 24 Q. That'sthe budgeted cost recovery that you

25 Q. And then we've got CF(L)CO recoveries of one 25 expect to obtain from cr(L)co for 2004?
Page 87 Page 88

1 A Yes 1 to limit the amount of reconciliation that we

2 Q. Allright. And then you break that down into 2 had to do.

3 twelve monthly allotments and you bill cF(L)co 3 Q. Okay. Now, so thedays that's indicated

4 on amonthly basis? 4 there, does that mean that Hydro isincurring

5 A. Wewould take the annual number and divide it 5 those expenses on behalf of CF(L)co and that

6 by 12 and every month we would bill cFL)co 6 it's 30 days later that Hydro gets paid for

7 the same amount for 12 months. 7 those expensesthat wereincurred. Isthat

8 Q. Andif there’s an adjustment that needs to be 8 what that 30 days means there?

9 made, it's made early in the next fiscal year? 9 A.No, the 30 daysistrying to be representative
10 A.If thereisany adjustments, be it positive or 10 of the types of coststhat are up above. We
11 negative, that the adjustment would be 11 actually bill cr(L)co and then it’s paid.

12 determined in January once actual results are 12 Q. Okay. So, let’s justlook at theinsurance,

13 known and the recalculations are done. And it 13 for instance, it’s minus 182 and a half days,
14 would be paid in February together with its 14 so that would indicate that you prepay your
15 normal billing for the next year. 15 insurance?

16 Q. And that adjustment for instance, if thiswas 16  A. Yes, but within this calculation, there'sno
17 2004, if that figure is accepted, that 17 cost associated with CF(L)CO for insurance.

18 adjustment is made in early 2005, it gets 18 Q.No, no,I'm just usingit for comparison
19 booked in 2005, correct? 19 purposes on your Lead Lag.

20 A.No, wetry, if wecan - 20 A.Yes.

21 Q. Todragit back into 20047 21 Q. Youprepay your insurance, sothaton your
22 A.-togetit recorded into the year in which it 22 Lead Lag, it'sbooked as aminus 182 and a
23 happened. 23 half days, correct?

24 Q. Okay. 24  A.That'sright, yes.

25 A. So, for afinancial statement purposes, we try 25 Q. Onyour Lead Lag for the CF(L)CO recoveries,
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1 MR. KENNEDY: 1 representation of what a month would be as the
2 you'vegot it in soit'sa30-day lag, instead 2 amount of time for the costs and we bill them
3 of 182 day lead. 3 on thefirst of the month. So, we're actually
4 A Yes 4 giving them back a credit and reducing the
5 Q. Allright. Now, any lagis what ends up 5 weighted by the equivalent of 30 days. We had
6 creating the working cash allowance provision, 6 CFL)co.’ smoney on thefirst of the month
7 isn'tit? 7 and we had the use of it, so it'sreducing
8 A.Yes, that's one of the components. 8 what’s up above.
9 Q. Okay. So, isitthecasethen incCFL)CO'S 9 Q. Okay. Can wego to NP-15, please, Mr.
10 recoveries that Hydro--that there’s a 30-day 10 O'Reilly, if wecould go to the next page,
11 lag between why Hydro incurs the expense for 11 yeah. Thisprovidesjust asummary of the
12 CK(L )coand when it actually getspaid by 12 cost recoveries from CF(L)CO, are you familiar
13 CF(L )cofor the work that was done? 13 with that exhibit, Mr. Roberts?
14 A.Well, the billingisnot based on when the 14 A Yes | am.
15 costs are being incurred. It's based on the 15 Q. Okay. One curiosity isthere'sa lineitem
16 annual amount divided by 12. Whereas the 16 there, treasury and you've got treasury at
17 salaries as an example, if you go up to that 17 2004 at 0 dollars. Is my understanding correct
18 line, on an average of 12 days, but there’'sa 18 that that’s actually as a result of the
19 portion of that that’s going through for 19 organization that took place in Hydro
20 CF(L )co. 20 commensurate with your becoming the cFo?
21 Q.Okay. I'mtill at alossto know how the 30 21 A.Yes, if you'll look on linesix and seven,
22 daysended up inthe Lead Lag study for the 22 there were two componentsin threeand in
23 CF(L )corecovery? Why is there a 30-day lag 23 2004, they’ ve been combined into one.
24 on the cr(L)coin your Lead Lag study? 24 Q. Okay.
25  A.Wadll, the 30 days, | think, isjust anormal 25  A.What hasn't changed is the elimination of the
Page 91 Page 92
1 two names because they're only effectivein 1 A.l know cFL)cobills Hydro Quebec we do
2 2003. The new thing would becalled the 2 maintenance of variousfacilitiesthat have
3 finance section. 3 been installed and there are agreements with
4 Q.Okay. The CF(L)coO counter charge, number 4 Hydro Quebec where cr(L)co will invoice those
5 four, $20,000.00 billed back to, in effect, 5 costs to Hydro Quebec. I'm just trying to go
6 billed back to Hydro. What does that relate 6 through the other company that I’ve got
7 to? 7 responsibility for and see charges--1'll be
8 A. That'san amount that's charged back to Hydro 8 honest with you, if there are, it would be a
9 and reflected in the CF(L)CO administrative 9 very rare occasion that some would be billed
10 fee to cover the use of facilities at 10 back.
11 Churchill Falls by Hydro. 11 Q. Right.
12 Q. So, Hydro usesfacilitiesin Churchill Falls? 12 A. Mosttimesit’'s cr(L)co billing Hydro Quebec.
13 A. Yeah. We may, on occasion, utilize facilities 13 Q. Now, there was mention that there is a
14 at Churchill Fallsand that’storeflect a 14 contract between Newfoundland and Labrador
15 charge for that. 15 Hydro and CF(L)CO concerning these cost
16 Q. Now, Hydro owns65.8 percent of CF(L)CO, 16 recoveries, correct?
17 correct? 17 A.There is-on an annua bass, the
18 A.Yes 18 Administrative Services Agreement would be
19 Q. Theother shareholder is- 19 reviewed--I should back up. Hydro will
20  A.Hydro Quebec. 20 prepare a, the Administrative Services
21 Q.- Hydro Quebec. Does Hydro Quebec aso bill 21 Agreement such as what you see here, and it
22 CF(L)co for support of the nature as detailed 22 would outline the cost and the various
23 in thisNP-15? 23 categories. That would be provided to the
24 A.No, it does not. 24 CF(L)cO Board of Directors for review and
25 Q. Doesit hill crL)co for anything? 25 approval. And based on the results of that
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1 MR. ROBERTS: 1 provided some information about the policy and
2 review, then the agreement would be signed 2 analysis of your approach on the recoveries.
3 between Hydro and cF(L)Cco saying that for the, 3 And you, yourself, in your exhibit JCR 2, the
4 say as an example, the 2003 year, the 4 onewe had out previoudly, the non-regulated
5 administrative costs are goingto 1,795,000 5 operations, provide a description of how Hydro
6 and it would be signed by somebody to 6 goes about recovering the costs incurred in
7 represent Hydro aswell as somebody from 7 relation to work performed for CF(L)CO,
8 CF(L )co and then things would just proceed as 8 correct?
9 normal. 9 A.Yes
10 Q. Okay. Now, the policy, if you will, of these 10 Q. Allright. I just wonder if we could just put
11 recoveriesfor work performed by Hydro for 11 itin concrete terms, let's dea with the
12 CF(L )coisone of recovering your costs, is 12 management first. If you, as cFo, do work for
13 that correct, asopposed to, for instance, 13 CF(L)CO, you maintain, as| understand it, a
14 charging a market rate for thework that’s 14 time sheet.
15 performed. 15  A.Yes, | doweekly time sheets and in the case
16 A.It'sprimarily based on cost plus any other 16 of timethat | spend on CF(L)coor other
17 appropriate costs or sharing or costs for each 17 entities, | log that time and record it ona
18 facility. 18 weekly basis.
19 (11:45am.) 19 Q. And then how doesthat time get converted to
20 Q. So, it'snot based on market rates? 20 dollarsfor the purposes of the actual cost
21 A.It'snot based on market rates; it's based on 21 recover?
22 costs plus alocations for other costs that 22 A. Thehour that | worked on CF(L)CO is costed
23 would be utilized for CF(L)CoO. 23 out to the payroll system and it's using my
24 Q.Okay. And Grant Thornton have, in their 24 actual hourly rate that’s put through and it’s
25 report, provided, intheir 2003 GRA report, 25 coded to, as werefer toit, asthe work
Page 95 Page 96
1 order. So, we havework orders established 1 seven and a half times your hourly rate.
2 for the areas that are providing servicesto 2 A.Timeswhatever the hourly rateisbased on
3 CF(L )CO. So, there would be awork order 3 1950.
4 established for management, as an example, for 4 Q.Okay. Now, asl| understand it from your
5 which both myself and the remainder of the 5 description in JCR-2, there salso an add on
6 management team, asthey provide servicesto 6 to that figure for costsrelated to your
7 CF(L )cowill complete weekly time sheets and 7 executive assistants, isthat correct?
8 that time would be recorded into that. 8 A.Yes, executive assistants for management would
9 Q. Now, your actua hourly rate that you referred 9 be allocated based on theratio that was
10 to, that is a combination of your salary, your 10 developed from the executive management
11 benefits and what have you? 11 themselves. So that if--acombination of
12 A. That would bemy salary plusa loading for 12 finance and production and TRO and Human
13 fringe benefits. 13 Resources and legal and the president, if that
14 Q. Andisthat worked out on a 37-hour week then 14 worked out to be 15 percent for the year, then
15 to get that hourly rate, do you know? 15 15 percent of the costs associated for the
16 A.I’mgoing to say that therate in my caseis 16 executive assistants would also be charged to
17 probably based on 1950 hours. 17 CF(L )co.
18 Q. That'sabilling, sort of, related rate then? 18 Q. So, for instance, and I'm sureyou do your
19 A. Wdll, that would be a, | think it'sa37 1/2 19 time sheetsin atimely manner, Mr. Wells, I'm
20 hour week, it equates into 1950 hours for the 20 guessing, my not be as diligent in performing
21 yearsversus if you were an operations unit, 21 paper work. | could betotally wrong, but his
22 it would be 2080 which is based on 40 hours a 22 executive assistant, for instance, its assumed
23 week. 23 that person is aso providing support for Mr.
24 Q.Andso if you work two hoursona CF(L)CO 24 Wellsto be ableto provide his servicesto
25 related matter, it would betwo over thirty 25 CF(L )co and then that’swhy there’s that cost
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1 MR. KENNEDY: 1 that ratio then gets applied to the executive
2 recovery aswell. 2 assistant that supportsyou and their costs
3 A Theexecutive assistant for Mr. Wellsworks 3 are added to your costs?
4 for Mr. Wellsaswell asthe Vice-President of 4 A Thercosts end up, a theend of theyear
5 Production.  So that--and--versus the 5 being added to.
6 executive assistant that’ s--on other side, is 6 Q. Your engineering department, when they provide
7 for finance and TRO. And then we have an 7 servicesto CF(L)CO, they too do so by the
8 executive assistant that’ slooking after the 8 same method of using time sheets?
9 Human Resources and legal side of things. Mr. 9 A. They would use time sheetsaswell to track
10 Wellsdoes dotime sheets. Hemay not be 10 the provision of engineering services.
11 doing them on aweekly basis, but he does get 11 Q. Now, are you awarethat in the case of
12 reminders from me (laughter) and | also get 12 Newfoundland Power, that engineersthat do
13 reminders from my staff because we continue to 13 work for non-regulated entities are billed out
14 monitor the results of what’s happening in the 14 at amarket rate or what’s considered to be a
15 CF(L)coand admin. fee andit’s relatively 15 market rate rather than a pure cost recovery?
16 easy to go into the work order and find out 16 Are you aware of that?
17 that all of asudden there' s been no charged 17 A.lguessl only can recollect there was some
18 in for two or three weeks. And the question 18 discussion, asto what it was in connection
19 then would be asked, how come, where are the 19 with, I’ll be honest with you, | wouldn't be
20 time sheets? If there areno timeto be 20 able to say that | have any degree of
21 charged, well that’s fine, but it is monitored 21 familiarity with it whatsoever.
22 from that point of view. We may be a bit late 22 Q. Has Hydro ever considered charging market
23 in getting them done, but they are done. 23 rates for its personnel like engineers or
24 Q. So, you work say two out of thirty seven and a 24 environmental services, onesthat are readily
25 half hours on a given week on CF(L)CO matters, 25 determinable by looking to the market of what
Page 99 Page 100
1 that rate should be? 1 earn amargin or a profit on that transaction
2 A.lf,inthecaseof CF(L)CO, CF(L)CO aso has 2 can be minimized.
3 itsown engineering staff at site.  So, the 3  Q Wadl, I guess| wasthinking opportunity costs
4 level of service that’s being provided is not 4 in relation to, that if you've got your
5 that significant and it’s only to facilitate 5 employeesworking for CF(L)CO, then they’'re
6 special requirements that’s not being done at 6 not working for Hydro. And for instance, some
7 site. Have welooked at charging market rate 7 efficiency gain that might have been achieved
8 out? The answer isno. We believe that the 8 by that person, if they were fully dedicated
9 way that we' re doing it now of using the time 9 toHydroislost and if that’s an intangible
10 sheets, loading it with fringe benefits is 10 that you’'re not recovering right now. That
11 utilizing, and charging--using that same ratio 11 opportunity cost isto Hydro.
12 to allocate other costs, by the way, that’s 12 A.l guess whenyoulook atthe servicesthat
13 the other point that | should remember, is, 13 Hydrois providing, it'snot afull-fledged
14 you know, afair reflection of the cost that 14 individua that’s being dedicated. It’s part
15 should be removed from Hydro. 15 of me andit'sa part of somebody else and
16 Q. Would you agree with me that thereis an 16 whatever. And CF(L)CO does pay its share and
17 opportunity cost to Hydro by having its 17 full cost of what’'sincurred, evento the
18 employees performing work for non-regulated 18 point of view of if an employee’'s positionis
19 entities? 19 terminated--well, | shouldn’t say that. If an
20 A. Thereisan opportunity cost there because you 20 employee’s position was made redundant and the
21 may end up having some of our expertise used 21 employee was entitled to severance, then
22 on non-regulated operations to a third party, 22 CF(L)co would also pick up part of that
23 as an example, butin doing that, it may 23 severance costs. Soto the extent that we
24 entail the backfilling of that senior person. 24 can, CF(L)co pays what we consider to beits
25 So, the amount of additional opportunity to 25 appropriate share of all coststhat are
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1 MR. ROBERTS: 1 IS&T coststo CF(L)COis it’sbeing based on

2 associated with having these employees, and 2 the number of computers that exist, that

3 these aren’t fully dedicated employees to 3 CF(L)co have of the total that arein the

4 CF(L)CO. As| mentioned, these are parts and 4 Hydro Group. So the ratio of the total of

5 pieces of peoplethat are being used to 5 personal computers, if there’'s 600in the

6 provide a service to CF(L)CO. 6 whole group and cF(L)co has 200 of them, well,

7 Q. Could we just go back to NP-15, please? 7 it'stwo over six timesthe 1S&T costs is

8 Redlly there's threelarge itemshere, Mr. 8 what’s allocated to CF(L)CO.

9 Roberts. There' sthe controller’ s department, 9 Q. .Sowhy wouldthe 1S&T be treated that way
10 365,000. There' stheis&T figure of 525,000, 10 instead of requiring your 1IS&T employeesto
11 and then there’'s materials management for 11 track their time with time sheets in the same
12 481,000. Now in the case of the 1T 12 manner as the other positions?

13 department, that doesn’t involve the use of 13 A.Becausg, as | just mentioned, if there's a
14 time sheets or proxies for overhead, doesit, 14 phone call tomorrow that comes from an
15 the allocation of the recovery for your I1S&T 15 employee of CF(L)CO that says "I'vegot a
16 department? Could you explain how that’s 16 problem here in the maintenance module,” well,
17 recovered? 17 the problem is common to both companies. If
18 A.Inthecaseof 1IS&T, asyou can appreciatein 18 there's something wrong--Hydro isusing the
19 using acommon system, it's difficult to say 19 exact samemodel. It'sjust somebody at
20 am | doing CF(L)cotoday and Hydro tomorrow |20 CF(L)co may have found it before an employee
21 and whatever. If there happensto be a 21 in Hydro found it. So it’sacommon set of
22 particular issue that getsaddressed, then 22 software and it’'s a common fix that’s of
23 we'reusing acommon system, it'sa common 23 benefit to both. So if the issue was
24 issue, just who discovered the problem first. 24 identified and a cF(L)co employee happened to
25 What' s been used asabasisto allocate the 25 find the issue and 1s&T rectified it, then

Page 103 Page 104

1 it's rectified for both companies because 1 It would be limited.

2 we're both using the same software. 2 Q. Yourun theJb system, as| understand it,

3 Q. Sure. Andthat’sthe assumption that - 3 Hydro does?

4  A. And that’'s the assumption. 4 A Yes

5 Q.-thatif there'san issuethat arises, it's 5 Q. And CF(L)co uses the JD Enterprise system -

6 common to both of you? 6 A Yes

7  A.It'scommon to both. 7 Q.- forsome of itsfinancial planning and

8 Q. Butthat wouldn't alwaysbethe case, would 8 modelling?

9 it? Asyou said, if there’s 200 computers 9 A Forallof it. Theonly thing that CFL)CO
10 being run by cF(L)co, you would have your own- |10 doesn't use isthe ucis customer billing
11 -CF(L)co would have its own servers. It would 11 system. But al other modules, they’re
12 have its own networking. So it - 12 jointly used.

13 A.ltownsitsown serversand it does have some 13 Q. Andthe materials management figure, that's
14 support within its own organization, but for 14 treated the same way asyour controller’s

15 the main systemsof like our J0 Edwards 15 department, in that the cost is tracked

16 system, our Lotus Notes applications, those 16 through the use of time sheets?

17 common systemsthat areto all, this ishow 17 A.In thecase of materias management, what
18 the allocation of the costs would be done. 18 you're looking at here, this would be the cost
19 (12:00 p.m.) 19 associated with Hydro Place and the provision
20 Q. Some are common; some are not? 20 of services for our library and our office

21  A. Some are; some are not, and like for instance, 21 services, and the methodology that we're using
22 CF(L)CO has support people, asyou’re saying 22 there is that we come up with what we call and
23 with the local serversat site, but the main 23 equivalent complement basis, and what that
24 crutch of theissue would be through Hydro 24 entails is welook through the employees
25 Place and the support that’s available there. 25 within Hydro Place, arrive at atotal number
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1 MR. ROBERTS: 1 accounts receivable, processing, account

2 of positions and then, based on the analysis 2 reconciliation, financial and capital

3 that would be coming from management, asan 3 reporting, so on, reviewing capital and

4 example, the ratio may turn around and say 4 operating budgets, providing advice and

5 it's.3 of aposition is associated with that. 5 assistance to CF(L)cOo on the use and

6 If you go into the controller’ s department, it 6 maintenance of the various JDE systems

7 may be the equivalent of three and a half 7 modules, federal and provincia tax,

8 positions. So we total all those up and that 8 calculation of preferred dividends, and

9 asthe percentage of thetotal positionsin 9 preparing various reports for shareholders.
10 Hydro Placeis how wewould allocate the 10 A. That'scorrect.
11 common costs for like the mail room and the 11 Q. Would you agree with me that if you needed to,
12 billing costs associated with CF(L)CO, that 12 you could go to the market, the open market,
13 are being provided to CcF(L)co on behalf of 13 and hire someone on acontractual basis to
14 Hydro. 14 provide those kindsof services? In other
15 Q. Inthe caseof your controller’s department 15 words, if Hydro wasn't providing those
16 and the time sheet based recoveries that are 16 services to CF(L)CO, CF(L)co would either hire
17 used, there’'s the description--if we could 17 someone to do it themselves, or they would in
18 just goto JcR-2, Mr. O'Reilly, and page 7, 18 turn hire an accounting firm or some sort of
19 yes, controller, just put that full--there’s a 19 consultant to provide that kind of work?
20 description here, Mr. Roberts, of what 20 A.Theservices could certainly be provided by
21 actually is provided by the controller. 21 somebody outside of Hydro. The question is at
22 A. That'scorrect. 22 what costs.
23 Q. The most significant accounting services 23 Q. Correct. Likely to be higher than the cost
24 provide included in recording of actual costs 24 that you're recovering right now? A
25 in the general ledger, accounts payable, 25 consultant would charge more, wouldn't they?
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1 A. Consultant would certainly charge more because 1 through these promissory notes aslimited by

2 he’s going to build in ahigher recovery and 2 the Order in Council to 300 million to avail

3 an element of profit within their particular 3 of short-term borrowings?

4 billing based on what their predetermined 4 A.ldon't believethereis because you haveto

5 billing rates would be. 5 recognize now in the 300 million all of this

6 Q. And | take itthat you don't feel that's 6 isguaranteed by the province, so both our

7 appropriate for Hydro to do in these 7 long-term debt and our short-term debt is

8 circumstances? 8 guaranteed by the province. Whether or not

9 A. Persondly I think the methodology that we're 9 somebody else would be prepared to loan us
10 using meetsthe description of being afair 10 money without a guarantee and whether or not
11 dlocation of costs to CF(L)co for the 11 that would bein contravention of this cap
12 services that are being provided. 12 that’ s imposed by government, | really haven't
13 Q. Okay. Just two snappers. Oneisthe--you've 13 investigated in any way.
14 referenced actually earlier today the cap that 14 Q. Does, inyour opinion, the $300 million cap
15 Hydro hasimposed on it by Order in Council 15 provide less flexibility than you would
16 for promissory notes. 16 otherwise liketo have as cFo of Hydro? In
17  A. Oh, the 300 million. 17 other words have there, for instance, in the
18 Q. 300 million. Andthat is, asyou said, by 18 last short whilein particular where the
19 Order in Council, correct? 19 short-term interest rates have been as low as
20 A.Tothebest of my knowledge, yes. 20 they have been times when you wish you could
21 Q. So that's government imposing a limit on 21 have availed of greater short-term borrowings
22 Hydro' s short-term borrowing ability? 22 to take advantage of that but were unable to
23 A.Yes. It's by Order in Council it'slimited 23 because of the $300 million cap?
24 the amount that can be financed in short-term. 24  A.That'sadifficult question because what you
25 Q.Doyou haveany other mechanism other than 25 haveto do is you have to keep balancing the
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1 MR. ROBERTS: 1 Roberts. Ms. Greene, do you have some

2 ratio of what you havein long-term debt 2 redirect?

3 against short-term debt. And you're trying to 3 GREENE. Q.C.:

4 find, and there’'s no magic numbersthat it's 4 Q.Yes. Thank you, Mr. Chair. | have some

5 got to be 75/25 or 80/20 or 85/15. It's, you 5 limited redirect, and as well, we will bein a

6 know, exercising judgment and information 6 position to respond to the two undertakings

7 that’s available to the time. Y ou don’'t want 7 that were given yesterday at this point. The

8 to catch yourself in the position where you've 8 first question that | have for you in

9 got a significant amount of your debt 9 redirect, Mr. Roberts, arises from questioning
10 outstanding in the short-term rates and all of 10 of Mr. Kelly on October 14th. And | wonder,
11 a sudden the market can turn around on you and 11 Mr. O'Rellly, if you could bring up the
12 you could get caught the other way. So, it's 12 transcript of October 14th at page 135? And
13 a balancing act of what you feel is a 13 you see there, there was discussion with
14 reasonabl e all ocation between short and long- 14 respect to thefuel conversion factor at
15 term. Wedo, through that exercise, do 15 Holyrood and what timeimpact would be on
16 consult with our financial advisors. Wedo 16 Hydro if the actual fuel conversion factor at
17 have some information that’s available 17 Holyrood was higher than had been set in the
18 relative to those ratios that are exercised by 18 test year. And you'll seethereisaquestion
19 other utilities and we use that asaguidein 19 at the bottom of page 135, we' re beginning at
20 us determining where do we feel comfortablein 20 line 23, Mr. Kelly said, "If Hydro had--if
21 the ratio of long-term and short-term. 21 everything else had panned through exactly as
22 Q. That'sall the questions | have, Chair. Thank 22 tested and all that had changed was the fuel
23 you, Mr. Roberts. 23 conversion factor, that $6 million would have
24 CHAIRMAN: 24 goneright to Hydro’'s bottom line, wouldn’t
25 Q. Thank you, Mr. Kennedy. Thank you, Mr. 25 it? Would you agree with that?' And your
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1 answer was, "I'll have to think about it, but 1 Q. AndtheresponsetoIc-371isanillustration

2 | think you may beright." And I'd like you 2 of how it worked with respect to a specific

3 now to address that question and what isthe 3 savings, isthat correct?

4 impact if thereis improvement in the fuel 4 A Yes. Thisonereflects the savingsthat are

5 conversion factor? 5 associated to theRsp and the difference

6 A.Yes Theanswerthat| gaveisnot correct, 6 between the2.4 and 6.1 is theimpact on

7 and that's why | wanted to think about it, 7 Hydro' s bottom line.

8 because | knew there was something that was 8 Q. Thenext question that | have on redirect aso

9 gtickingin my mind. Actualy, 1C-371, in 9 arises from cross-examination with Mr. Kelly
10 response to that the question was asked in 10 when hewas discussing with you some of the
11 relative to afollow-up on 1c-207. The change 11 reductionsin staffing that has occurred at
12 in deficiency had been quantified to be 12 Hydro. And he left the impressionin his
13 approximately a$6.1 million savings. But of 13 questioning that the operating departments may
14 that efficiency $2.4 million would be a 14 have had more of areduction in staffing, and
15 savingsto therate stabilization plan and 15 he took you to only those departments. And
16 only 3.6 would impact on Hydro’ s bottom line. 16 I'd like to take you to the others. So if we
17 Q. So with respect to the improvement in the fuel 17 could, please, go to MP-9? Here Mr. Roberts
18 conversion factor being better than included 18 is whereby each division the change in
19 inthe test year revenueregquirement while 19 complement from ' 97 has been outlined. And
20 thereis animpact on Hydro's bottom line, 20 for ease of convenience I’m going to start
21 it's not the full impact of the improvement, 21 with 1999, because if you look through, you'll
22 isthat correct? 22 see that there was an increase from 1998 to
23 A.No,it's not. There would be some savings 23 1999 in production. It went up from 278 to
24 that would be attributable to the Rate 24 320. What happened in that from’98, sorry,
25 Stabilization Plan as well. 25 to’99?
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1 MR. ROBERTS: 1 And here' s the human resources division. And
2 A Wdl, in 1999 the former Management 2 for the time frame 1999 to 2003 what has been
3 Information Systems or the computer side of 3 the reduction in complement in that division?
4 operations was combined with the tele-control 4 A Well, theré sa reduction of 12 positions
5 aspect of production and that was transferred 5 which represent 17 percent.
6 as of January the 1st, 1999. Those two 6 Q. Next screen, please, Mr. O'Reilly. Thisis
7 departments were amalgamated into one. 7 transmission and rural operations. Again, for
8 Q. Soif welooked over to the finance division, 8 the period for 1999 to August, 2003, what has
9 we should see a corresponding decrease in 9 been the reductionin complement in that
10 1999, isthat correct, because that M1S staff 10 divison?
11 had been included in that complement up to the 11  A.Yes. There'sareduction of 70 positions and
12 then? 12 that trandlatesinto 17 percent.
13 A.Yes. Miswereincluded in finance up to the 13 Q. The next page, Mr. O'Reilly, is finance.
14 end of 1988--1998. 14 Again, could you please advise what the
15 Q. So for comparison purposes with the new 15 reduction has been from 1999 to August, 2003?
16 structure with the Mischangel’d likeyou, 16 A.Yes. There's been a reduction in ten
17 looking at production, what has been the 17 positionsand that equates to a12 percent
18 change in complement from 1999 to August, 18 reduction.
19 20037 19 Q. Andthereyou can seethedrop from 1998 to
20 A.Weéll, inthe case of theisand T--ISand T-- 20 1999 reflects the transfer of the mis
21 in the production division at the end of 1999 21 department to production that we just talked
22 the complement was 320, at August '03 it's now 22 about, isthat correct?
23 forecast to be at 301. There' s areduction of 23 A Yes itis
24 19 positions which represents six percent. 24 Q. Thenext pageshould just bethe executive
25 Q.Goto thenext page, please, Mr. O’ Reilly? 25 management internal audit and corporate
Page 115 Page 116
1 communications. What has happened here? 1 A.Wadl, included inthe 2004 number of 11095
2 A.On thispage we can see that the overall 2 are some corporate costs.  One in particular
3 changefor the Company as atotal has gone 3 is the employee future benefits. There’'s$3. 7
4 from 901 down to 791, and that’ s a change of, 4 million included in the 2004 number that is
5 | believe it's 12 percent I've got marked 5 not included in either 97 or '98. In
6 here, if | can read my own writing. 6 addition to that there’'sanincrease inthe
7 (12215 p.m.) 7 group insurance costs of approximately
8 Q. Now, following up on this point Mr. Kelly then 8 $800,000 between 1997 and 2004. And the other
9 took you to 1Cc-39, which I'd like to go to as 9 item that’ s contributing to the differenceis
10 well. AndI'dliketolook at page 3, where 10 that in the case of apprentices, apprentices
11 again he compared certain actual salary costs 11 are budgeted for in the human resources and
12 starting in 1997 to forecast costs for 2004 12 legal division because over the period of time
13 and he threw out a lot of percentage 13 they’re moved from divisionto division and
14 increases. Andwhat | would liketotalk to 14 location to location depending on the
15 you about is the couple of the ones he didn’t 15 requirements and where their rotations are.
16 talk to you about, the first one being human 16 And from abudgeting perspective, they are
17 resources. The increase from’97 or the 17 controlled and monitored through the human
18 actualsis 5.5 million to the forecast of 2004 18 resources and legal division. And there was
19 of 11 million where Mr. Kelly pointed out that 19 an increase in the number of apprentices that
20 was more than 100 percent increase. And you 20 arein the system in 2003 and in four relative
21 started to explain and | guess you didn’t--as 21 to what was there in 1997.
22 Mr. Kelly didn’t pursue the questioning with 22 Q. Soif welook at the footnote that was there
23 you as to the reason for that from actual ' 97 23 by human resource and legdl, it indicates, and
24 toforecast 2004. What is thereason for 24 | take from your answer that the reason for
25 that? 25 the increase are corporate costs related to
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1 GREENE, Q.C.: 1 investor owned utility, does that continue to
2 al of the divisions such as employee future 2 bethecase. Andyou responded yes. And |
3 benefits for all employees and group insurance 3 wanted you to explain what you meant by your
4 for al employees and are not strictly related 4 one word answer there?
5 to just this human resources division? 5 .Yes. My reference wasthereisthat inthe
6 A. That'scorrect, they are total Company costs. 6 determination of the return that the utility
7 Q. Thenext question that | haveon redirect 7 is seeking is based on the assessments of the
8 arises from the cross-examination of Mr. 8 risksof the utility and the assessment of
9 Seviour yesterday. And inresponse to a 9 those risks by our financial expert, Mr.
10 question, if we go, Mr. O'Rellly, please, to 10 McShane, has concluded that the business risks
11 page 112 of the transcript of October 15th, 11 that Hydro faces are similar to an investor
12 page 112? And I’ d--there on line, starting at 12 owned utility such and Newfoundland Power.
13 line 2 and going on to line 3 you stated that, 13 And based on that assessment and that
14 "One of Hydro’s Board membersis the Deputy |14 conclusion, then the return should be similar
15 Minister of Finance." Isthat correct? 15 to what would be received by an investor owned
16 A.No,it'snot. The actua appointment isthe 16 utility.
17 Deputy Minister of Mines and Energy, not 17 Q. So Hydro'sposition with respectto being
18 Deputy Minister of Finance. 18 treated as an investor owned utility relates
19 Q. Thelast question | have for you on redirect 19 to the rate of return, isthat correct?
20 aso arose in the cross-examination of Mr. 20 A.Yes, it relates to the assessment of the rate
21 Seviour. Andif we could go, please, to the 21 of return that should be received based on the
22 transcript also of yesterday, page 138? And 22 risks that the equity holder is subjected to.
23 there beginning at line 21 Mr. Seviour asked 23 Q. That concludes the questions | have for
24 you a question and he asked you about Hydro’s 24 redirect. 1'd likenow to turn to the
25 position with respect to being treated as an 25 response to thetwo undertakingsthat were
Page 119 Page 120
1 provided yesterday. The first was an 1 order of approximately 1.6 to 1.7 million
2 undertaking provided to Mr. Kelly. And if you 2 dollars.
3 go to the transcript, Mr. O’ Reilly, beginning 3 Q. A second undertaking was provided, as well, to
4 at page 697 You'll see there the start of the 4 Mr. Kelly and itison page 75, starting on
5 discussion with respect to the reductionin 5 page 75 of the transcript, and it relatesto
6 the temporary employees in 2003. And the 6 professional services. And you'll see
7 specific undertaking is provided or asked for 7 beginning at the bottom of page 75, going over
8 beginning at line21. And atline22 the 8 to the top of page 76 Mr. Kelly asked you to
9 undertaking was, "What is the savings, what is 9 provide--and I'll go to the top of page 76
10 thevalue of thereductionin the temporary 10 there. It'sactually beginning inline 1 at
11 employees from 2002, 194, to the 2003 number 11 theend. Heasked, "Can you give the Board
12 of 131?7" First, before we get to the answer 12 any sense of what makes up that other
13 I'd likeyou to comment on the reference of 13 approximately $900,000?" And, Mr. Roberts,
14 the reduction from 194 to 131. Do you agree 14 that referred to professional servicesin 2002
15 that is a correct statement of the reflection 15 where Grant Thornton in its report had
16 of the temporaries for 20037 16 summarized the main categories of professional
17 A.No, itisnot. The 194 represents a number as 17 services but had not given atotal accounting,
18 of the end of 2002 and the number of 131 18 leaving approximately $900,000. At thistime
19 that’ s reflected for 2003 isthe full-time 19 could you outline for the Board what are the
20 equivalents that are anticipated in 2003. So 20 categories of professional servicesin that
21 the numbers are not comparable. 21 $900,000 as Mr. Kelly asked you to do?
22 Q. However, there was areduction intemporary 22 .Yes. What Grant Thornton had outlined in
23 wages, isthat correct, in 2003 over 2002? 23 their report wasjust representative samples
24 A.Yes, there isa reduction in the temporary 24 of some of the professional service costs that
25 wages from two to three, and that’s inthe 25 they had actually hauled (phonetic) the
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1 MR. ROBERTS: 1 technology items covering assistants that were
2 vouchers on and confirmed as to what the costs 2 required relative to our intranet document
3 were. In addition to that, there are 3 management security. Therewas $141,000.00
4 additional costsand I'll just go through some 4 associated with Holyrood and that included
5 examplesthat | have herefor you. The cost 5 such thingsas utilization of services of a
6 of our annual report and our environmental 6 chemical consultant, some assistants on land
7 report has not been reflected in the analysis 7 fill and water analysis and some current tests
8 doneby Grant Thornton, that approximately 8 that had to be done on unit number one. There
9 $78,000.00, some work with insurance claimsis 9 are also, from the generation side of things,
10 $6,000.00, some costs and treasury related to 10 the cost of the Annua Dyke Board visit for
11 our banking services, fee for Dominion Bond 11 $38,000.00. There were also some things there
12 Rating Services and tele-rate which gives us 12 from an environmental nature for $83,000.00.
13 information relative to rates, there’'s 13 o, that gives you the idea of the types of
14 $80,000.00 there for that. Customer services, 14 things that are making up the $900,000.00.
15 our customer service survey that was doneis 15 Q. Thanks, Mr. Roberts, that concludes both the
16 $28,000.00. There were some costs in rates 16 re-direct and the response to the undertakings
17 relativeto our report on all hedging and 17 given yesterday.
18 other costs of service related matters for 18 CHAIRMAN:
19 44,000. There were some costs in our economic 19 Q. Thank you, Ms. Greene. Mr. Kelly, are there
20 analysis section relative to economic 20 any follow-up just on those two specific
21 forecasts and the fee paid to PERA (phonetic) 21 items?
22 for the forecasting on the number 6 fuel oil 22 KELLY, Q.C:
23 for 44,000. There were some costs for 23 Q. No, Mr. Chairman, not at thistime.
24 arbitration, $11,000.00. There was 24 CHAIRMAN:
25 $224,000.00 for additional information 25 Q. All right, thank you. Wemove to Board
Page 123 Page 124
1 questions. Commissioner Saunders? 1 it's an employee that’ s working 1950 hours or
2 COMMISSIONER SAUNDERS: 2 2080 hours ayear, we've done the math,
3 Q. Yes justacouple, Mr. Chair. Mr. Roberts, 3 convert those hours into the equivalent number
4 throughout your evidence, not only your 4 of people, that combined with thewhat was
5 evidence, but the evidence of the Company, the 5 referred to asthe permanent complement will
6 pre-filed evidence particularly I'm referring 6 equate and giveyou the number of Fulltime
7 to, with no specific reference, but you use 7 Equivalents.
8 the words "staff complement” and you also talk 8 Q. Okay. Why do you continue to use both?
9 about FTE's. Would you explain for the record 9 A Wadl,inhistory, and it's old habits that are
10 what the difference is in terms of its 10 hard to break, but a lot of our historical
11 relationship in each case to budget and actual 11 information only tracked information by
12 costs? 12 fulltime Equivalents. And in the case of the
13 A. Thereferenceto staff complement used to be 13 temporaries, on a historical basis, all we had
14 in equivalent to full time positions 14 was the number at apointin time. So that,
15 permanently approved. 15 for instance, as of the 1st of June, you could
16 Q. Not necessarily filled. 16 have started off with 100 temporaries, but by
17 A.Not necessarily filled. There could be 17 theend of June, you're geared up for your
18 vacancies, but our full-time complement would 18 mai ntenance season, the number could increase
19 reflect, aswejust said, filled and unfilled 19 to 300. Butin thenew way of things, of
20 at that particular time, but it was an 20 doing it, looking at the Fulltime Equivalents,
21 improved complement position on a full-time 21 that eliminates having to worry about that
22 basis. Inthecaseof the FTE's, you've now 22 comparison.
23 converted, Fulltime Equivalent, those full- 23 Q. Areyou makingthe transitionto FTE'S, is
24 time positions and you've now taken all your 24 that in the process?
25 temporary hours and based on whether or not 25 A.That'salready in process and it started the
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1 MR. ROBERTS: 1 A Anditwas, | think, below the eight twenty at
2 1st of 2003. Therewill be growing painsin 2 an earlier datethanin -
3 trying to get used tothe change because 3 Q. Yes itwas, and| picked that up somewhere
4 you’' re moving away from looking at things on a 4 and | forget where it was.
5 dollar basis to, now where it should be, ison 5 A.lthinkit'sinthereport that's attached to
6 an hourly basis. What hours do you need to do 6 Mr. Wells' evidence on the capital structure
7 the work, rather than before you were block of 7 and thedividends. | may havegiven the
8 dollars and you were trying to get the work to 8 history back in there through the capital
9 bedone. So, I think inthelong term, it 9 structure.
10 should be more beneficial to us. 10 Q. What has happened to Hydro's credit rating
11 Q. So, some time down the road, we'll seethe 11 during the same period? Hasthere been any
12 complement disappear from the - 12 change?
13 A. The complement should disappear, maybeatthe |13  A. No, because we are assigned the same rating as
14 next hearing. 14 the province, but what continues to be
15 Q. Allright. A questionin relationto the 15 outlined in the reportsthat are done by the
16 credit rating of Hydro and the Province. And 16 credit rating agencies is that they still
17 if 1 recall the dates and numbers, | think 17 consider Hydro to be self-sustaining. And
18 Hydro' s debt equity ratio was declined from 18 therefore, when they do the assessment and
19 seventy eight twenty two to roughly eighty six 19 they look at the Province, they look at Hydro
20 fourteen over the past sevenyearsor five 20 and say, yes, this company is self-sustaining
21 years, from 98 to now. Would that be - 21 and is not impairing on the Province. So, as
22 A.That sounds fairly close. | know it's 22 long as that continues, we' re comfortabl e that
23 approximately about eighty six fourteen right 23 it won't impact on the rating that they will
24 now. 24 assign to the Province.
25 Q. Right. 25 Q. What's happened to the provincial credit
Page 127 Page 128
1 rating over that same period? 1 that’shereand it'sonethat | referredto
2 A Actudly, I think somebody just changed 2 yesterday. ThisisNP-104, attachment G with
3 because there s three rating agencies. 3 isDBRS. And aswetrack therating of the
4 Q.Yes 4 Province, they do show the rating history and
5 A. There’s Dominion Bond Rating Services, there's 5 it shows 1996 was DDD low and as of 2002, it's
6 Moody’s and there' s Standard and Poors. And | 6 BBB. So, I'm assuming that was an
7 think recently, it may beMoody’s, | think 7 improvement.
8 just changed the Province, it may have been 8 Q. Soundslikeit.
9 like A- to A, but the ratings are all 9 A.Now, the same thing--I don’'t know about the
10 different between thethree. They may all 10 other ones, but the information is, the
11 trandate - 11 current ratings, and whether or not the other
12 Q. Waéll, I'll put the question another way, has 12 ones provide the same level of history, that,
13 there been any deterioration in the Province's 13 I’m not sure. But | know in the case of DBRS,
14 credit rating in the past seven or eight 14 they do provide ahistory of the ratings and
15 years? 15 what would be therefor Hydro is aso there
16 A.ldon'tknow if I could answer that question 16 for the Province.
17 for you. 17 (12:32am.)
18 Q. Maybe you could find out. 18 Q. Soundslikeit.
19  A. Actudly, if youwould just bear with me for 19  A. Now the samething, | don’t know about the
20 one second, Mr. Saunders. 20 other ones, but the informationis current
21 Q. Sure. 21 ratings and whether or not the other ones
22 A.l knew where the credit ratings werefiled, 22 provide the same level of history; that, I'm
23 they may indicate asto how long that rating 23 not sure. But | know in the case of DBRS,
24 wasin effect. I’m looking, there wasin NP- 24 they do provide the history of the ratings and
25 104 and I’m just looking at one of the ratings 25 what would be there for Hydro was also there

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 125 - Page 128




October 16, 2003

Multi-Page™ NL Hydro's 2003 General Rate Application

Page 129 Page 130
1 MR. ROBERTS: 1 employees, and I'll use the example of 1S&T,
2 for the Province. 2 if we need additional resources, then that
3 Q. It'sprobably on therecord, I just thought 3 would probably come through professional
4 you might have had the information readily 4 services based on a project. We would engage
5 avallable. 5 Xwave or somebody like that or J0 Edwards, for
6 GREENE, Q.C.: 6 that matter, to provide that level of service
7 Q. If it shelpful, Commissioner Saunders, | can 7 that is not existing in house and it would be
8 confirm there has been no deterioration in the 8 part of the work that would be performed by
9 Province' s credit rating in thetime frame 9 bargaining unit members. So it would bea
10 you've referred to. 10 function of what was being required would
11 COMMISSIONER SAUNDERS: 11 dictate where it would be recorded.
12 Q. Okay, thank you, Ms. Greene. Okay, Mr. 12 Q. Uh-hm. Sowhere do you show your contracting
13 Roberts, | think | asked this question of Mr. 13 out costs in various headings?
14 Wells when he was on the stand, I’'m not 14 A. It would bein various expenditure categories
15 certain, but 1 know | had intended to, and 15 or various projects. Wedon't try to -
16 that is, your contracting out costs, where do 16 Q. Youdon'ttrack it.
17 they show up? If | asked Mr. Wells, | didn’t 17 A.Wedon'ttrack itthat way. Wetrack by a
18 note his answer. 18 project or by the requirement for the service
19 A.I’'mtryingto formulatein my mind how | can 19 and then that would dictate asto wherewe
20 explain contracting out. We are limited in 20 record it.
21 what we can contract out by our union 21 Q. You're carryinginventory normally, and |
22 contracts. 22 looked back over the figures of shop supplies,
23 Q. Yes, | redizethat. 23 | think you called them, somewhere around 17
24  A. Thereare certain services that we may require 24 to 22 million dollars over the past severd
25 that aren’t provided today by our union 25 years. And there's been write offs
Page 131 Page 132
1 approximating a half amillion dollars, | say 1 goods and services process. And what that
2 approximating within two hundred thousand of 2 process entails is that the responsibility for
3 five hundred; in other words, between 300 and 3 al theinventory has been put underneath the
4 700,000 of write offs. That inventory is 4 control of the materials'/management section,
5 located in severa locations around the 5 which is underneath Ms. Greene's or in vice-
6 Province and Labrador. 6 president of Human Resources and genera
7  A.Yes itis 7 counsel. So theresponsibility for all the
8 Q. Andyou talked earlier inyour discussions 8 inventory will rest in one area, and it'san
9 with counsel earlier this morning about the 9 ongoing process now of reviewing, continuously
10 process you have in place in terms of 10 reviewing our inventory levels and continuing-
11 verifying assets and so on, and I’m wondering 11 -we' ve dlways donein the past, we' ve aways
12 if your store’sinventory isincluded in that 12 done spot checks of inventories and verified
13 process? 13 what was on the records, versus what wasin
14 A.Yes that onehasadready actualy started, 14 the bins. But we're--and | guess you can say
15 actually in 2001, the initial started from the 15 we're continuing now, in thisprocess, to
16 point of view of reviewing the inventory 16 review with the areas, number one, the level;
17 levels, but also what was in the inventory and 17 and number two, what' s actually in inventory,
18 isit still used and useful, shouldit be 18 towards reducing the amount of inventory that
19 disposed of, isit surplus to what we realy 19 we haveto carry. And as| mentioned in that
20 require to be carried if it’s available down 20 regard, what we'relooking at is in the
21 the street, then our inventory levels should 21 particular areas, are there suppliers for
22 be reduced. One of the initials that's 22 which we're obtaining these parts from and if
23 described in, | think it's Section 9 of my 23 so, then why would weneed to carry it in
24 evidence about the continuous improvements 24 inventory and the supplier carry it, if it's
25 that we're doing, one of those represents the 25 readily accessible by going up to the street.
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1 MR. ROBERTS: 1 and it'sreally a follow-up question from

2 It may mean making arrangementsfor an off 2 P.U.7. | wonder, Mr. O’ Reilly, if you could

3 hour’ s situation, if we get into it, or maybe 3 put up page 76 of P.U.7. That'sfinethere.

4 it means rather than carrying 20 items in 4 And thiswas dealt with fairly extensively in

5 inventory, we can carry 2 because the next day 5 the last hearing. Has there been any changes

6 it savailable there. So thosethings are 6 in Hydro’'s methodology for capitalizing

7 being done on alocation-by-location basis as 7 expenses since the last hearing?

8 well. And of course, the other thing is when 8 A.No, there has not.

9 you look at what’ s in inventory, sometimesin 9 Q. Okay. And at the last hearing, it was--and,
10 the electronics components, they can become 10 of course, you would be aware, it was pointed
11 obsoleterelatively quickly and your spares 11 out that Newfoundland Power does use a
12 have no value if you change your components. 12 different method, | understand, or do you
13 Q.Yes 13 understand that to be -

14 A. But, you know, you were forced at one point to 14  A.Yes, | believethey do.

15 have some of these things on hand. 15 Q. Andthat method was the subject of a full

16 Q. Okay, thank you. | think those are all the 16 review by Newfoundland Power by Order of the

17 questions | had, Mr. Chair. 17 Board and the Board has approved that method,

18 CHAIRMAN: 18 it's an incremental method, | think, of

19 Q. Thank you, Commissioner Saunders. 19 allocating capital expenditures.

20 Commissioner Whalen? 20 A.Uh-hm.

21 COMMISSIONER WHALEN: 21 Q. The Board makes the statement on page 77, "The

22 Q. Good afternoon, Mr. Roberts. | just have one 22 Board feelsthat areview of the methodology

23 question and we can't see each other, but 23 approach used by Hydro to determine

24 that'sfine. Andit relatesto the method 24 capitalized expenses will be appropriate at

25 that Hydro uses for capitalizing the expenses, 25 sometimeinthefuture” DoesHydro havea
Page 135 Page 136

1 position on whether or not such a study is 1 marking it up by an overhead to provide what

2 necessary or should be undertaken, of if this 2 it feels as being areasonable approximation

3 isan appropriatetime to undertake such a 3 of a charge out for the costs that are

4 study? 4 associated with that capital project. And it

5 A.I'll be honest, at thispoint there hasn’t 5 does make an alowance for the other people

6 been, with al the rest of the itemsthat are 6 that aren’'t specifically devel oped--involved

7 ongoing for the hearing, there hasn’t been 7 in acapita project, but do provide services

8 much discussion taken place as to whether or 8 and | think the rate that we're using

9 not there would be anything to be gained from 9 presently is 6 percent. So, whether or not a
10 afurther review. And | guessthat’s the best 10 study would actually entail having significant
1 comment that | can make at this point for you, 1 changesto that, | guess until you spent the
12 Commissioner. 12 time and the money to do it, you'd never know,

13 Q. Andthiskind of astudy is, my impressionis 13 but I think in my opinion at this point, that

14 that it's a farly extensive and 14 at least what we are doing is areasonable
15 comprehensive--it wouldn’t be a small piece of 15 approximation of being a fair and reasonable
16 work, isthat a - 16 cost that's charged to our capital program.

17 A. It would require avery detailed understanding 17 Q. You haven't, internally, looked at the impact
18 of the operation and it would take sometime 18 in terms of whether Hydro was using
19 inwhich to complete. Anditis, | guess, as 19 incremental -

20 | say, amongst other things, there are always 20  A. No, we have not at this point.

21 going to be different methods and differing 21 Q. Okay, thank you, Mr. Roberts, very much.
22 opinions as to how things should be done and 22 That's al | have, Chair.

23 what are the basisto arrive at it. The way 23 CHAIRMAN:

24 that Hydro is doing it now is utilizing its 24 Q. Thank you, Commissioner Whalen. Mr. Roberts,
25 time sheet and loading it for fringes and then 25 thank you very much for your testimony over
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1 CHAIRMAN:
2 the last three days. None of us, | think up
3 here, are professional accountantsin any way,
4 shape or form and | found, in particular, your
5 explanations and the manner in which you
6 delivered your testimony useful. Thank you
7 very much.
8 . Thank you.
9 .1 havejust a couple of questions. One

© 00 N o ok~ WODN P

Page 138
would think that within each of these business
units there would be multiple processes, |
would think, isthat afair statement?

. Maybe | should try to provide alittle bit of

information to you. Werefer to "business
units', really in effect iswhat they are, are
cost centers. For instance, we would have all
our salary and labour costs in what we refer
to as a Labour Business Unit. And a

10 relates to the business improvement strategy 10 supervisor or amanager or director, could
11 and | guessthere' salittle bit of amystery 11 have responsibility for multiple business
12 inthe sensethat there doesn't seem to be 12 units, for instance, he could have
13 very much in the way of paper attached to the 13 responsibility for the labour, aswell as some
14 study or implementation of that strategy, and 14 of the assets or the service structures that
15 indeed, in terms of looking forward down the 15 we have created. So it’s not a supervisor for
16 road to what that strategy might employ by way 16 every single business unit or a manager for
17 of efficiencies and savings. It's very 17 every single business unit. There would be
18 difficult, from | understand your testimony 18 multiples that would be associated to a
19 and Mr. Wells, to sort of predict that and 19 director or amanager. But they are primarily
20 indeed will be encompassed within the overall 20 cost tracking centers, very similar to the old
21 efficiencies and the productivity of the 21 methodology of the budget, but you just
22 organization. And | guess there are hundred-- 22 divorce the labour from work that was going on
23 somebody mentioned 150 business units. | 23 relative to our equipment. The processes that
24 think you confirmed that and | think that was 24 we're reviewing were cut across al lines, for
25 the number that | heard the last time and | 25 instance, the review of the goods and services
Page 139 Page 140
1 processthat | just briefly touched on with 1 you made the approval in thefirst place to do
2 Mr. Saunders, would impact the TRO, would 2 it, then if there's away to automate the
3 impact production, it would impact 3 recording of the transactions, then we should
4 materials'/management, so the changein the 4 be doing that. And we do have built-in checks
5 review of that process was looking at it on a 5 inthe case of the automation of the costs
6 company-wide basis and it will have impacts 6 that are recorded on the purchasing card on a
7 and ratifications throughout all the areas of 7 monthly basis. Thereisa selection criteria
8 the Corporation. It will entail, in some 8 done of arepresentative sample of the number
9 cases, a change to the way that we do things, 9 of credit card statements and notification is
10 for instance, the other one that | had 10 sent, and it could be sent to me, saying
11 described in my evidence is how we 11 kindly review one of my director’s statements
12 computerized our travel costsand virtually 12 this month, and | would do that detailed
13 eliminated the processing of atravel claim. 13 review and sign off on it. So even though
14 What that did within an individual business 14 we've automated the process, we have till
15 unit, it will change the way that people now 15 built in some checks and balances to make sure
16 start to budget for costs. They were 16 that it's working as intended and that the
17 budgeting for training, as being distinct that 17 costs are appropriate. And the impact of that
18 you include your full travel cost associated 18 would cut across all business units. And most
19 with the training. Now we' ve computerized and 19 of these processes that we're doing the view
20 automated those cost, now the switch, so that 20 on, will do exactly that, the Goods & Services
21 what wasin training now, will probably may 21 tax, Goods & Services structure that we're
22 only be the outright tuition fees, I'll refer 22 looking at and the consolidation of the
23 toit, for the cost of the training. That was 23 control over the inventory, will impact what’s
24 adecision that was made that it's more cost 24 happening in all of these various business
25 effective to have these things automated, if 25 units. Thereview of the way that we budget
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1 MR. ROBERTS: 1 that was on and was carried as well, you know,
2 work and we execute work will impact what’'s 2 that was unique and wouldn’t cut across, you
3 happening within these particular business 3 know, the full Company line.
4 units. Thelink that we're establishing now 4 . | guess my question arises from the fact there
5 between actual financial records and equipment 5 would seem to me, by virtue of the fact that
6 records and building that link will then 6 you' re tracking costs, you’ re tracking labour,
7 facilitate better information for the field 7 you're tracking materials within a business
8 and replacement of assets, but it will also be 8 unit, that there are processesthat occur
9 agreat facilitator to the preparation of the 9 within--and may be multiple processes that
10 cost of service, because hopefully at the end 10 occur within a business unit, because
11 of the day, theamount of reallocation of 11 ultimately the costs are attributed to work
12 costs can be minimized. You'll never 12 that’ s getting done. And there may very well
13 eliminate it a hundred percent, but at least 13 bea combination of business processes that
14 it can help minimize the way that some of the 14 cut across units, | have no doubt about that.
15 costs now have to be alocated. 15 | guess my question surrounds the fact that
16 (12:49 p.m.) 16 again, there seems to be all kinds of
17 Q. Sothese business improvementsthat you're 17 combinations and permutations of processes
18 talking about, the strategy is based on 18 that would be in place within Hydro. Andis
19 processes that cut across various - 19 there, | mean, where do you go next with this
20 A.Tocut across thewhole organization as a 20 business improvement systems? There must be
21 whole. 21 some document, some report, there must be
22 Q. Becauseinherently it's- 22 certain processes that you're looking at and
23 A.Now you may dill find within various 23 the processes that you're going to look at in
24 sections, like for instance the Meter Reader 24 2003, 2004, 2005, that hasto beidentified
25 Route Optimization Study, which was areview 25 somewhere, doesit not?
Page 143 Page 144
1 A Wadl, asMr. Wells mentioned, he wanted the 1 that are yet to go, they will evolve as we get
2 process kick started because of the 2 closeto finishing and as people say, well,
3 circumstances that we' reinto. And the first 3 maybe the next process we should look at is
4 areathat was looked at, of course, was the 4 the way that we bill our customers.
5 accounts payable purchasing, arising from 5 Q. Sohow doesthat evolve and what criteria do
6 that, there were other processes identified 6 you apply in order to -
7 and they were the ones that we're now working 7 A.Wadl, right now, the whole processis headed
8 on. And | think aswe move forward, there 8 up by, I'll use Mr. Wells' outline, one of our
9 will be other ones that we know they’re there, 9 senior directorsin the organization and he's
10 it'sjust that somebody hasgot to identify 10 been charged with the responsibility to manage
11 what’ s going to be the next one that we will 11 and to roll forward this process. And one of
12 tackle. If you look back, when we implemented 12 the itemsthat he will bedoing will be
13 JD Edwards, normally if you had all kinds of 13 identifying potential next processes that we
14 time on your hands and weren’t under the gun 14 should start to do the review on, and then
15 with aY 2K situation, and what you would have 15 that would come forward to management for a
16 done is you would have looked at your 16 discussion and review, and there may be
17 processes as you were doing an implementation, 17 additional items that even | may raise within,
18 so that you would define your process and then 18 say, look, here's an areathat | think should
19 the implementation would have been done. So 19 be considered. But there’sno master list
20 really what we're doing now iswe're utilizing 20 prepared to date of saying, you know, here’s
21 the technology we have and doing the review of 21 fifty-odd processes. | appreciate it seems
22 the process and see now how doesit befine 22 sort of ad hoc, but we' re taking our time and
23 tuned to gain the efficienciesthat we can 23 trying to learn as much aswe can in the two
24 achieve by redesigning our processes. And 24 or three that we are doing.
25 there’'snot amaster list of the processes 25 Q. Sothat person comes forward with alist then
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1 CHAIRMAN:

and isit tied into the budget process then?

So hewould come forward with a listing and
then we would look at that from what's
feasible and what can be possibly carried out
in the time frame and what do you see as being
the anticipated changes that can be done, and
are they related to just one areaof the
operation, or as we mentioned are they cutting
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Page 146

A. Well heused to report to Mr. Reeves, and in
2002 when we started this process, he was
asked to undertake the role as heading up the
process review initiative. And he isstill
responsible for heading it up and reports
directly to Mr. Wells.

Q. see. Can youjust helpmein thisareaa
little bit. | heard you, again, I’'m not a
professional accountant, a professional

10 across all functional lines? Because some of 10 finance person in any way, shape or form, |
11 these processes won't be cutting across all 11 heard you say and | could refer toitin the
12 lines, they may be distinct to one particular 12 transcript, but | thought the RsPin terms of,
13 areg, as| mentioned in the Meter Reader Route 13 you said, | think, it’s assigned the weighted
14 Optimization Study, you know, that would be 14 average cost of capital, interms of its
15 distinct to that section. And there may be 15 costing?
16 other processes that we'll review that may 16 A.Yes
17 only have implicationsto, say, production, 17 Q. Which would consist of debt and equity. Now
18 may not apply to TRO. 18 when you describe that, again in the
19 Q. Whoin theorganization isresponsible for 19 transcript that | read, you kept referring to
20 that, the business and systems planning 20 promissory notes and | would have thought that
21 improvements? 21 would be debt which would somewhat cheaper. |
22 A.Right now, we have a senior director, used to 22 don’'t quite understand how equity is applied--
23 be the former director of TRO, reporting to 23 cost of equity isapplied to the RSP, which
24 the vice-president. 24 would seem to me to apply then a higher rate,
25 Q. Which vice-president? 25 versusthe cost of debt and that would--I
Page 147 Page 148
1 don’t know what the numbers would be, but that 1 no specific borrowing for fuel, versus
2 would be carried through, | would think, to 2 borrowing to pay a maintenance cost or
3 the revenue requirement? 3 whatever. Soit'sjust apool of debt. But
4 A. Seeif thiswill try to help you. If you look 4 what you have is that we' ve paid for fuel and
5 at Hydro's capital structure, any of its 5 we're not going to get paid for two years or
6 assets are financed through a combination of 6 three yearsor four yearsor five years, so
7 debt and equity. And debt isboth long term 7 really have that asset financed. But the
8 and short termand short term being the 8 asset was financed with both debt and equity.
9 promissory notes. So inthe calculation of 9 It may not necessarily be short term, it'sa
10 what the weighted average cost of capitdl is, 10 combination of short and long and equity. So
11 it recognizes that the particular asset that 11 if we accept the premise that the assets are
12 you may have, part of it isfinanced through 12 financed with debt and equity and your debt
13 debt and part of it is financed through 13 cost isa combination of short and long, in
14 equity. It'streated exactly the same as your 14 the determination, when you apply your
15 rate base is, so that financing of a 15 weighted average cost of capital to that,
16 receivable and financing of a capital asset, 16 that’ srecognizing how itis financed. |
17 the source that financed that came from both 17 don't know if that helps or just adds more
18 debt and equity. The weighted average cost of 18 confusion to it for you, but that’ s basically
19 capital isapplied to the Rate Stabilization 19 the philosophy behind it.
20 Plan because of the fact that it’s recognizing 20 Q. Yeah. | guessinherently, if you were being
21 that the componentsthat make up that plan 21 paid for that rate stabilization, which is
22 were in fact financed that way. For instance, 22 there right now, you would be reducing your
23 we may use promissory notesto finance fuel 23 borrowing requirements?
24 when we buy it, but eventually the promissory 24 A.Yes. Thetotd -
25 notes becomes long-term debt because there's 25 Q. Long or short term?
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1 MR. ROBERTS: 1 It'sreferring to CA-143. It's beginning on
2 A.Yes Thetotal borrowing would be lessif we 2 linel. Anditrefersto the spikinginthe
3 weren't financing the Rate Stabilization Plan. 3 rates in customer service spiked to 874. And
4 Q. Right. Soinherently it would seem to me that 4 | believe without referring back to that,
5 would reduce your debt costs and the - 5 although we can, | haveit here, it showsit
6 A.ltwould reduce--if wenever had the Rate 6 going up in 2001, 361, 427 in 2000, in that
7 Stabilization Plan, if we were paid 100 7 vicinity. Andyour comment was that it
8 percent, if you looked at our debt to capital 8 relates to collection, difficulties in
9 structure, it would be better. 9 collecting debt or collecting revenues in
10 Q. Right. Because your debt - 10 Sheshatsheit.
11  A. Because- 11 A. That’scorrect.
12 Q. Because your debt would be better? 12 Q. Andyou seemtorefer later onto thefact
13 A. Becausethisis debt that exists out there. 13 that thisis really relating to closely one
14 Q. Right. 14 year'sdebt. It may be somewhat over ayear,
15  A.And, of course, it'saso impactedin the 15 but I think you indicated it was--it would go
16 ratios. 16 back ayear or so. Isthat difference which
17 Q. Sothat’'swhy | would have thought the cost 17 would roughly be versus 2001 a half amillion
18 attributed to that would be the cost of debt 18 dollars, does that all relate tothat? It
19 as opposed to - 19 seems to be arather high amount. And | guess
20  A. But recognizing that it’ s financed with both. 20 my question would be on ago-forward basis
21 Q. With both, okay. The third--it's, | guessa 21 what’s being done to collect that in the
22 result from a discussion that you had, | think 22 future versus what'’ s been done in the past?
23 it may have been Mr. Browne, it relates under 23 (1:00 p.m.)
24 your CA-143. I'mlooking at page 51 of the 24  A. Every effort that we possibly can to collect
25 October the 14th transcript, Mr. O'Reilly. 25 itisbeing explored. And | thought | had the
Page 151 Page 152
1 answer. The mgjority of that increase would 1 we'retalking about. The question | think |
2 be associated with a provision for potential 2 put to Mr. Osmond at the time was this would
3 bad debts associated with the accounts in 3 have some implications in terms of succession
4 Sheshatsheit. 4 planning within the organization. And | think
5 Q. Mgority of the half million dollars? 5 hefelt at that point in time that it was an
6 A.Yes. 6 important issue, indeed, something that would
7 Q. Yeah, | see. Soisthat--and it would relate 7 haveto be looked at. Could you update me if
8 to ayear or sightly over ayear’s bad debt? 8 there' s anything particularly being done? |
9  A. That may be over acouple of years. 9 notice just from the executive alone there’'sa
10 Q. Okay. 10 fair change since -
11 A. Weare having extreme difficulty in trying to 11 GREENE. Q.C.
12 collect the accounts. 12 Q. Succession planning has worked.
13 Q. Is that something which is likely to be 13 CHAIRMAN:
14 systemic on an ongoing basis? 14 Q.- sincethelast time.
15  A. | think theissueis going to be far reaching 15 A.l guessit is under advisement at Hydro,
16 than just the payment of their electricity 16 looking at the ramifications of what’s coming
17 account. 17 up in the next period of time. Because as Mr.
18 Q. Okay. | understand. Okay. The other point, 18 Wells--thereis 25 percent of our workforce
19 and maybe you could just give me alittle bit 19 will be eligibleto retire. That doesn’t mean
20 of additional information, last time | queries 20 that they all will and they won’t be replaced.
21 Mr. Osmond back on November the 26th of 2001. 21 But | think there is some preliminary
22 I think the discussion was at that time that 22 discussions going on as to what can be done in
23 30 percent of the employees in Hydro may very 23 certain key areasas to how thingscan be
24 well be looking at retirement over the next 24 looked atin the eventual likelihood that
25 fiveyears. | think that'sdownto 25 now 25 people do retire and at certain times. But
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1 MR. ROBERTS: 1 minority shareholder, Hydro Quebec, interms
2 there's not aformalized study if you're 2 of if you attempted to contract out or you
3 referring to that. | think it’s the awareness 3 attempted to get more revenue than what you're
4 and the review and the preliminary discussions 4 getting now in the current system, couldn’t
5 that are being donein human resources as to 5 the minority shareholder say we could provide
6 what may or may not be the issues and what may 6 that for equal or less than what you're
7 or may not be some of the solutions to deal 7 looking for?
8 with it. 8 A.lguessit’'s adifficult question for meto
9 Q. lt'sgoingto havea very significant impact 9 answer. | think Hydro Quebec could certainly
10 not only for Hydro, but other organizations as 10 say, yes, maybe we could provide that service.
11 well. There' s nothing formal being - 11 To datethat hasn't happened. They do this
12 A.It'snothing formal. It'sstrictly at the 12 review based on the information that’'s
13 discussion level at this point. 13 provided to them. And what we' ve seen earlier
14 Q. Okay. That'sall the questions| have. Thank 14 this morning on the analysis of the question,
15 you, very much, Mr. Roberts. Are there any 15 they are provided with more information than
16 questions arising from any of that? Mr. 16 what was shown on the screen so they have an
17 Browne, good morning. 17 explanation asto what’ s into the cost as well
18 BROWNE, Q.C.: 18 asif there’san increase or adecrease. And
19 Q. Just in reference to a question that 19 we do ask them to formally approve the
20 Commissioner Saunders asked re contracting out |20 administrative services agreement for that
21 and afollow-up inreferenceto tracking of 21 particular year. But at this point they
22 expenses that the Chairperson asked. In 22 haven’t, that I’ m aware of, had suggested that
23 applying contracting out and tracking of 23 anyone other than Newfoundland and Labrador
24 expensesin reference to CF(L)CO, is that a 24 Hydro would complete these services for
25 delicate situation there where you havethe 25 CF(L)CO.
Page 155 Page 156
1 Q. Thank you. 1 And what we doiswe go through and we place
2 CHAIRMAN: 2 callsand say, look, we need $100,000 for a
3 Q. Thank you, Mr. Browne. Mr. Kelly? 3 period of time, what’ s the rate.
4 KELLY, Q.C. 4 Q. Right.
5 Q. Thank you. Mr. Roberts, | havejust havea 5 A. Andthen it would be based on the analysis of
6 couple of questions about Hydro's short-term 6 that rate and whether or not they could
7 borrowing and the promissory notes. Are those 7 provide the requirement that we're looking
8 promissory notes issued to a financia 8 for, we'd make the decision asto who would
9 ingtitution or is the money borrowed from 9 receive the promissory note.
10 government by issuing the notesto government? (10 Q. Andisthere aminimum or usual amount that
11 A. It would be borrowed from financial 11 you would to go? You referenced $100,000 a
12 institutions, not government. 12 few moments ago. Are they ordinarily issued
13 Q. Sorry? 13 in denominations of 100 or -
14 A.It'snot borrowed from government. 14  A.No, no. It's a function of the daily
15 Q. Soit'sfinancial institutions, it's - 15 monitoring of the cash requirements that would
16 A. That'scorrect. It could be Roya Bank, could 16 dictate the amount of promissory notes.
17 be Bank of Nova Scotia, could be those types 17 Q. But isit like--is there a--obviously you
18 of financial - 18 wouldn’t go for $500 or -
19 Q. That’smy next question. Isit one financia 19  A.No, no.
20 institution - 20 Q. Sois thereakind of minimum usual level?
21 A.No. 21 Just to help us with understanding the
22 Q.- orisitaseriesthat you go to the market 22 process.
23 at any point in time? 23 A.Thereason why |I'm hesitating because | see
24  A.lt'saseries. Weactualy have alisting of 24 promissory notes for more than one company. |
25 the peopl e that would issue promissory notes. 25 would suggest to you that we'd be talking in
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1 MR. ROBERTS: 1 of apprenticesis, as| was saying, related to
2 the hundreds of thousands asthey’re being 2 your so-called succession planning and the
3 issued, not down below that, a smaller number. 3 replacement of your line workersand your
4 Q.Okay. That'sfine. Thank you, Mr. Roberts. 4 other trades people towards the future. Hydro
5 CHAIRMAN: 5 has increased its level of apprentices in
6 Q. Mr.Kely. Mr. Seviour? 6 anticipation of this is what's going to
7 MR. SEVIOUR: 7 happen, recognizing that, yes, thereis atwo-
8 Q. Nothing arising. 8 year apprenticeship period or a three-year
9 CHAIRMAN: 9 apprenticeship period, no guarantee at the end
10 Q. Thank you. Mr. Kennedy? 10 of that period, but we are having these people
11 MR. KENNEDY: 11 throughout the system and they may be able to
12 Q. Nothing arising, Chair. 12 avail of full-time opportunities as they
13 CHAIRMAN: 13 arise.
14 Q. Ms. Greene? 14 Q. So that was done in contemplation of the
15 GREENE. Q.C.: 15 retirements coming up in the trades, isthat
16 Q.| have acouple arising. Thank you. The 16 correct?
17 first onerelates to succession planning. | 17 A.Yes, itwas.
18 wanted to bring you back to comments you had 18 Q. Sothat’saform of succession planning Hydro
19 made earlier in response to questions somebody 19 has engaged in recent years?
20 asked you today on the apprentices. And you 20 A.Yes.
21 indicated at that time Hydro had increased the 21 Q. Okay. Atthetradeslevel?
22 number of apprentices since 1997, '98. Could 22  A.Yes.
23 you advisethe Board as to why Hydro had 23 Q. The next couple of questions relate to
24 increased the number of apprentices? 24 questions from the Chair. Andfirst with
25  A. Part of the reason it had increased the number 25 respect to the business process improvement.
Page 159 Page 160
1 Y ou mentioned there wasno master list of 1 Q. Sothe processes to be reviewed have been
2 processes that are to be reviewed. Could you 2 determined for the balance of 2003 and into
3 indicate, though, for the Board what are the 3 2004, isthat correct?
4 processes that are under way now in 2003 and 4 A Yes, itisat thispoint.
5 what’ s planned going forward? 5 Q. The next comment, | guess, was from--question
6 A. Thethree main processesthat are under review 6 arisesfrom the comment of the Chair that
7 right now, asl mentioned earlier, was the 7 there doesn’t appear to be much paper with
8 acquisition of the goodsand serviceswhich 8 respect to BPI (phonetic). And | think there
9 aso entails the organizational structure 9 maybe some confusion between Mr. Wells
10 relativeto the centralization of inventory 10 comments with respect to forma report,
11 control. The second processthat’s being 11 because Mr. Wells also talked about there was
12 reviewed which is referred to asthe work 12 alot of diagrams and charts on the wall when
13 management, that's dealing with the work 13 the people cameup. Sol wanted to review
14 identification and execution aswell asthe 14 with you, very briefly, how the process--for
15 budgeting for those work activities. And the 15 example, let’stake one that you're familiar
16 third processthat’ s under review is referred 16 with, the accounts payable process. Can you
17 to as asset management and thisisfinancing 17 just give an outline for the Panel members as
18 of the capital asset records with the 18 to how the processisreviewed and what the
19 equipment records. 19 management team would have looked at before
20 Q. Mr. Roberts, doyou know the anticipated 20 the decision was made to proceed?
21 schedule for those three processes, process 21 A.Wadll, in the caseof theaccounts payable
22 reviews? 22 process, the employees were asked to quantify
23 A.ltisanticipate that these projects, some of 23 where they were spending their time and then
24 which will be finished in 2004 and some may 24 the actual main processes within the accounts
25 extend past 2004. 25 payable system were identified and were
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1 MR. ROBERTS: 1 that were used and presented to management, as
2 actually flow charted showing the flow of the 2 Mr. Wells was saying, in most cases viadlide
3 information through the system and what 3 show, saying look, you know, here sthe flow
4 happens at critical points. And from that it 4 chart. They’ve actually brought them into the
5 was identified that there was what we would 5 room and put them on the wall and said, look,
6 refer to asre-work happening. And what | 6 you can see for yourself and spend sometime
7 mean by re-work isa wrong code requiring 7 to see exactly what's happening. And then
8 information to be sent back to somebody else 8 based on the quick analysisof what’'s been
9 to be corrected. Through that process and the 9 done, you know, we had the opportunity here to
10 alocation of thetime, it became evident that 10 say in these particular areas, and there can
11 if you wereableto eliminate having to do 11 be abenefit. And of course, based on that,
12 some of this re-work and could change the 12 you can see that there would be anticipated
13 process, then there would be inherently 13 savingsthat would be--arise. So once the
14 savingsin thetimethat would be available. 14 decision was made to proceed with those
15 With these estimates of time being devel oped 15 reviews and to implement those changes, then
16 as to how much was being spent into particular 16 the team would go through and do the analysis
17 areas, you were ableto say, well, if you're 17 and say, okay, well, thisis the way that the
18 spending three days a week tracing down 18 process gets resigned--redesigned to achieve
19 vouchers that have been sent back to the field 19 the savings that were anticipated.
20 for re-coding, and if we eliminate that 20 Q. Sol understood from your answer that there
21 process, then there' sthree daysthat have 21 would have been a description of the process
22 been saved of time that will either be atrue 22 outlined on paper with an estimate of the
23 saving or it can be better utilized in value- 23 savings before there was--at the first stage,
24 added work, rather than non-value-added work. 24 isthat correct?
25 So it was those types of high-level estimates 25  A.Yes.
Page 163 Page 164
1 Q. The second stage would be again on paper where | 1 elimination of theitemsand theredesignin
2 the redesign process was outlined to 2 the accounts payabl e section.
3 management, is that correct? 3 Q. Sothere was areduction achieved as has been
4  A.Yes, astowhat could be changed and what the 4 estimated, is that correct?
5 new process would look like. 5 A Yes
6 Q. And at that time was there an estimate of the 6 Q. Andthat was salary savings?
7 anticipated benefits that would be achieved if 7  A.That was primarily salary savings.
8 the process was redesigned? 8 Q. Sowith respect to the process, the charting
9 A.Yes, there would be an estimate of the amount 9 of the existing process and the redesign of
10 of savingsthat could beachieved if the 10 the new process, was that done in paper that
11 redesign of the process could be completed as 11 was available for your review?
12 being presented. 12 A. Therewas other commentary that was provided
13 Q. And after--I'll stay with the one you're 13 during the analysis and the discussion, but
14 talking about, the accounts payable, which has 14 the prime thing was showing here's what the
15 been one that has been implemented. After the 15 current process exists like and here’ s how it
16 redesign processwas implemented were, in 16 could be changed.
17 fact, the savings achieved and what did you do 17 Q. So that was the source of Mr. Wells' comments
18 to determine that? 18 that there was lots of charts and diagrams and
19 A. What was doneisthat we looked back at what 19 -
20 was anticipated and what were the changes that 20 A.Lotsof chartsand diagrams -
21 were required to be done and what was actually 21 Q.- andflow charts?
22 done at the end of theday. Andinthe case 22 A.-that went around theroom, actually, and
23 of the accounts payable it actualy ended up 23 behind the door in some particular cases.
24 eliminating approximately one and a half 24 Q. Thank you. That concludes my questions.
25 positionsjust from the redo of some of the
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1 CHAIRMAN:
2 Q. Thank you, Ms. Greene. That was useful for

3 me. Thank you, once again, Mr. Roberts, very

4 much. We will adjourn for today and we'll

5 reconvene with Mr. Haynesat 9:00 on Monday
6 morning.
7 Upon concluding at 1:19 p.m.
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